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1. <o STRTE Soes W @Y HI0R 3R ?
(a) Hew T ST T qBH2! 0, HeHA IEATIATAT MG STd FHRON Hol.
(b) eI, SRy, FHU, TS, N e wewsTe RIS =i g fedeT
<,
(c) Tehifensr e dai=n S aef.
(d) W SIERR SRTG ST wHeArer YU,

i I :
(1)  (a), (b) 37 () 2) (a), (b) 3 (d)
(3) (a) 30T (b) (4) & W T R

What are the main Aims of the World Health Organization ?

(a) Stengthening the health services of member nations, improving the teaching standard
in medicine.

(b) Promoting good standard for nutrition, housing, recreation, Hygience, financial and
working conditions.

(c) Increasing the use of integrated primary services.

(d) Improving Maternal and Child Health and well-being.

Answer Options :

(1) (a), (b) and (9) (2) (), (b} and (d)

(3) (a) and (b) (4) All options are correct

2.  E-e I sfear 9T Heuid s wel faum fGel omea
(a) L HITOT AT AR ¥ IRRA °1 A1 AN SR 3T,
(b) WS Wi, STYEIG ST, St it afeen STehREE g S gE F0EE o,
(c) A AeM Favig feer oM s faR R St Tvar 4.,
e woR faum, faery g sy st ?
(1) e (b) (2) wH ()
(3) () = () (4) e T
Below are some statements regarding the stand up India Scheme :

(a) The purpose of this scheme is to create a job provider tomorrow.

(b) The scheme was launched for the Poor, Scheduled Castes, Tribes and Women
Entrepreneurs in the Country.

(c) Loans given under this scheme are given to Non-agricultural Industries.
Which of the statement(s) given above is/are incorrect ?

(1} Only (b) (2)  Only ()

(3) (b)and (¢) (4) None of the above

HoAT RS 9T/ SPACE FOR ROUGH WORK P.T.0



3. wuEEA S fawm deren weuatd el we faue fel e,
(a) YRAG JIFME Hivied faem SOTEHET Qe
(b) & Arer ufgeAIT 15 T, 2015 Uit TE FIOART S,
() <Y 24 T& qEF hed foamrars gy 0 @ yE .
(d) & A T wived faw TEHSEER Tafae wm.

FhAYE! HIOR faur/ faum g o/ omea ?
(1) & (b) (2 (o) =ufo (d)
(3)  (a), (b) S0 () (4) SR T

The following are some statements regarding the Prime Minister Skill Development Scheme.
(a) Launched for Skill development in Indian Youth.

(b) This scheme was first launched on 15% July, 2015.

(c)  The main objective is to train the 24 lakh Youth in the Country for Skill Development.
(d) This scheme is implemented by the National Skill Development Corporation.

Which of the statement(s) given above is/are incorrect ?

(1) Only (b) (2) (0 and (d)

(3) (a), (b) and {c) (4) None of the above

4. (a) foETHS TR ST T 1953 A HA.
(b) IfEw wiEs dafasor afees T 1945 748 @
(c) TSR yegied snftn yaroR aftee=h Tma= 1995 A& .
CHUGEEIELCRELIEAEPIE R 3 i A
(1) T (b) (2) FH (0) (3)  (b) =fwr () (4) elierdet w4
(a) The University Grants Commission was established in 1953.
(b) The All India Council For Technical education was established in 1945.
(c) The National Assessment and Accreditation Council was established in 1995.

Which of the statement(s) given above is/are incorrect ?
(1) Only (b) (2) Only (c) (3) (b)and (0 (4) All of the above

5. 2011 ¥ SATUHIER AT THW ArRSed el aeueid caRand fhdl o1 ?

1y 27.7% (2) 31.1% (3) 35.4% (4) 36.5%
What is the percentage of Urban Population in total population in India (2011 Census) ?
(1) 27.7% (2) 31.1% (3) 35.4% (4) 36.5%

HoAT HEES W/ SPACE FOR ROUGH WORK
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6.  Herwn et W etor I o e Afvre wowd amea ?
(a) USETrET TSgR Wl
(b) SR Hl (T e T W)

(c) @t foaumol

(d) W 9w afa Foeren UsvEl Aenfed

it I8

1) (@) 3 (b) (2) (), (b) 3 (d)

(3) (), (b) MM () (4) T I TR AR

What are the features of Mahatma Gandhi National Rural Employment Guarantee
Scheme ?

(a) Demand through employment application.

{(b) Payment of the dole if work is not provided.

(c) Cost Sharing

(d) Employment involving no physical exercise also guaranteed.
Answer Options :

(1) (a) and (b) (2) (a), (b) and (d)
(3) (a), (b) and (c) (4) All options are correct

7. 2011 38 STOHTER WRAR ISRl THI
(a) o e feran 50.75% 9 TF9 70.57%.
(b) Wl vrTaed feaar 79.92% | IEW 89.67%.
(c) TITHIOT HOTHER TR WA 67.8%.
(d) VR vPTHEY TH WIS 84.1%.

FAIHT DI TAT AT 3 2
(1) (@) (b) 3 () ) (b), (o) 3 (d)
(3)  (a) A (b) @) (o) o (d)

Literacy rate in India as per 2011 census :

(a) In Rural areas female 50.75% and male 70.57%.

{(b) In Urban areas female 79.92% and male 89.67%.

(c) Total literacy in Rural areas is 67.8%.

(d) Total literacy in Urban areas is 84.1%.

Which of the above options are correct ?

(1) (@), () and (9 2) (), () and )
(3) (a) and (b) (4) (c) and ()

oAl SIS 9/ SPACE FOR ROUGH WORK P.T.0
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8. UMAISHERIS Y& Seh HI 1_H ?
(a) HETEd T W QeHiH
(b) i fefer
() wFE guee faww
(d) FHeuras fow™

it 9T
(1) () = (b) (2) (@), (b) 30 (o)
(3)  (a), () sy (d) 4) W& TG T AR

What are the key components of Rural Development ?

(a) Empowerment of Panchayat Raj Institutions.

(b) Poverty alleviation.

(¢) Human Resource Development

(d) Institutional Development

Answer Options :

(1) (@) and (b) (2) (@), (b) and ()

3) (@), (c) and {(d) (4) All options are correct

9.  HERIE TTHIU YAl Iaeh-ai=l 71 & 92 TRHTad WEaiauarre! Geierdsh vkt el g6
Fedt ?
(@) &t ua Rmelt 4t arad W YaEd seael 9K
(b)  FETHI SITsT Fol WIS Heg
(c) HA THNH FRUS bl HSaS! TR
(d) Tq THAY HeENS Jahd SSTE! eI

TR B T T R/ e ?
(1) FH (a) (2)  (b), (c) 3nfer (d)
(3) (o) ”fu (d) @) Fheds ¥

Which of the following schemes was launched in Maharashtra to provide directly the farm
produce by the farmers in rural areas to the consumers ?

(a) Shree Sant Shiromani Shri Sawata Mali Farmers Weekly Market
(b) Mahatma Jyotiba Phule Bhaji Mandai

(¢) Sant Tukaram Maharaj Farmers Weekly Market

(d) Sant Ekanath Maharaj Farmers Weekly Market

Which of the option(s) given above is/are incorrect ?

(1) Only (a) @ () () and (@)

(3) {(c)and (d) (4) All of the above

HeAT HATES IR/ SPACE FOR ROUGH WORK

PR ] v i R PR BRI L vE s



A

10.

7 K14

WA S STy STHUare] Welierdeh! SHiow) o) 3Ted ?
(a) YEAF AfFaen faars H0 famH.

(b) I HECT ST e

(c) TrfTaTEHe FAAEM Hiena e ST,

(d) wERE A AT aftr TRefmETEn e g,

TeAte! FR faum/faum sew TR/ 3R ?

M @) @ GG @ O @ T e
Which of the following are reasons for higher birth rate in India ?

(@) It is compulsory for every person to Marry.

(b) More importance to a boy than girl.

(c) Because of child marriages reproductive period is longer.

(d) Low literacy rate and low living standard.

Which of the statement(s) given above is/are correct ?
(1) (a) and (b) (2) (b)and (d) (3) (b) and (c) (4) All of the above

11.

wreitel faumTis S SHeT e ?

(a) TSHF T AR AREE T FEHA 12 T 2005 s 90 e e

(b) T Trdtor s fE & FeEn wow efier YRaTdter TS S0 e T,
it 3

(1) % (a) ) = (b)

(3) Tl g 3TRd | (4) T SHIeR 3MRd

Which of the following statement is correct ?
(a) National Rural Health Mission was started in the Country on 12 April, 2005,
(b) The Programme National Rural Health Mission is first enforced in the states of Southern

India.
Answer Options :
(1) Only (a) (2) Only (b)
(3) Both are incorrect (4) Both are correct

FHoAT HIATHES WfM/SPACE FOR ROUGH WORK
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12.  SYAHS W Y& dHaTed Geieish! SV g4 SEg TRd ?
(a) TEW 22 TEM Ifgel Rea Sgfdam (TF) SRl S FaR el SR
(b) IR, AT, UG, TR, VAR T RAHw 4% afge WRdta SfiEE () W g%
Fer SR,
(c) T MR 7o) = SfSemey Sifet a1 ge Fear .
(d) 2018 - 19 =1 o1k SFEAETAR forerm T MAFIT Aerahra wRIforserd/ Tedis SRS 91

HEhiqTd 75 Weheidl fa=r el e o
ait I
(1) (a) S () (2) (a), (b) 30 (c)
(3) (a), (b) =fi (d) (4) W vata s SRA
Which of the following options are correct in respect of Pradhan Mantri Swasthya Suraksha
Yojana ?

(a) Total of 22 New All India Institutes of Medical Sciences (AIIMS) have been announced.

(b)  All India Institute of Medical Sciences (AIIMS) has been started in Bhopal, Bhubaneswar,
Jodhpur, Patna, Raipur and Rishikesh.

(c) OPD services have been started in AIIMS, Nagpur and AIIMS, Bathinda.

(d) Asper Annual Report 2018 - 19, 75 projects have been considered under the component
of upgradation of existing State Government Medical Colleges/ Institutions.

Answer Options :
(1)  (a) and (b) (2) (a) (b} and (c)
(3) (a), (b) and (d) (4) All options are correct

13. GiEeis! G fqum 9 /s ?
(@) 2011 = SO € "o 15 Hft 9 WieAmatEt 7 dt S S
(b) STUMAI FIGRT 1949 T WA AT g WA gl SEEOFT 1951 HE AR ISl
(€) wEEHEF®R 9R gidn RreEeiTar St 9y Saeer] T Sadl.
It 39
1) (@ 2 () 3 () (4) et v
Which of the following statements is/are correct ?
(@) The Census of 2011 is 15th consecutive census and 7th census after independence.

(b) The Census law is approved in 1949 and the first census of India is conducted in 1951.

(c) After independence, the whole responsibility of census is taken by states as per
Bhor Committee recommendations.

Answer Options :

(1) (a) (2) (b) (3) (o) (4) Al of the above

HoAT HIETHS 1/ SPACE FOR ROUGH WORK
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14. 2011 = SFUATER ¥RY 9T doqet e Wi OLfE . dedeEt e fed e
AT 3T ?
(1) 300 (2) 350 (3) 400 (4) 450

According to 2011 census of India, What is minimum per square k.m. density of population
required to be Urban area ?

1) 300 @) 350 (@) 400 (4) 450

15, VIRE WSl WH ST faems HAemErsn 2016 - 17 <41 Aifie ASaTeraR o SR aArd ?
(a) RS el e wEAwE A i o GURITHE TR faee w5,

(b) 3= foneyor wewimed fonayor snftn WeiteHT= TUERE WiedTRT SUAETST Haafurd SrarERen IS
3,

(c) YA SUfar anidter g faemeatn frsed, #s oeH 3. W[ e Aea F.

(d) gfaa Swdl/SoRl, SeaEeis it auTSdie snfdegsem gad ved WU ataa e
TR TG ST T e Y <o,

It saY
(1) (@), () 3 () (2) (@), (© 9 (d)
(3) (a), (b) T (d) (4) ¥E A T AR

What are the objectives of the 2016 - 17 Annual Report of the Ministry of Human Resource
Development, Government of India ?

(@)  Planned development, including expanding access and improving quality of educational
institutions throughout the country.

(b) To Stimulate the academic environment for promotion of quality of teaching-learning
and research in Higher Education Institutions.

{(c)  Provide financial help in the form of scholarships, loan subsidy, etc. to deserving students
from marginalized section of society.

(d) Promote Gender equity and social inclusion of disadvantaged groups as SC/ST,
Minorities and Economically weak section of society.

Answer Options :
(1) (a), (b) and () (2) (a) (¢) and (d)
3) (a), (b) and (d) (4) All options are correct

Tl TS 9N/ SPACE FOR ROUGH WORK PT.0
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16. 99 HHY fow dAeEE TE IR HioE e ?
(@) UtH Rarforn Hror s,
(b) i Srian =t R,
(c) HEEEt ISR ITeTsH %A 0.
(@) Vefors 2= aREET SRS faarder wewr H
ThHEH FIE faum/A SUET TR/ ?
1) (o) 3T (d) @ @ @) () b)) (4) et o
Which of the following are the main objectives of Human Resource Development Ministry ?
(a) To decide the national education policy.
(b) To develop the quality of educational institutions.
(¢) To provide employment to all.
{d) To seek co-operation of International Universities to increase the quality of education.

Which of the above statement(s) is/are correct ?
(1) (o) and (d) (2) (b) and (d) (3) (a),()and (d) (4) Allof the above

17. SR WPIIE STT TATaai= TIeeTdsh! SIvET S HUEt AR ?
(a) &FE0F FIH1 HUI 9 e ST,
(b) ARY ey Ffh g feen It TR,
(c) W THEE AARA T I SER 20,
(d) R SR FHEA 4L W,

Tt 9
(1) (a) 370 (b) 2 (o) f (d)
3 ®) () o (d) @)  (a), (b) =0for (d)

Asha Volunteers in Urban areas have to do which of the following ?
(a) Conducting field level meeting and keeping records.

(b) Attend Civil Health and Nutrition Day.

{c) Supplementary Nutrition for children under six years of age.
{(d) Visiting Urban Health Centres.

Answer Options :

(1) (a) and (b) (2) () and (d)

3) (), () and (d) (4) (@), () and (d)

FHeAT TIHTEIS ST/ SPACE FOR ROUGH WORK
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18. Mg e o
| T Y

(a) wHiaRA () 1956
(b) TAIMWIHRT (i) 1945
(c) UGC (i) 1962
(d) TIMHAL. (iv) 1995
(e) TAHASL. (v) 1961
it 36y

@@ ® @ @ (o
1 » @ @ @
@ @ @ @@ @) ©
@) @ @ @) @
4 ) (v @@ @@ @

Match the following :
Organisation Establishment Year
(a) NCERT (i) 1956
(b) NIEPA (i) 1945
(c) UGC (i) 1962
(d) AICTE (iv) 1995
() NCTE @) 1961

Answer Options :

@ b © @ (9
1 ) @ @ @ )
2 O @ @ ) O
@G @ @ @) O
@4 ) ) @ @ @

HoAT HUEES FAT/SPACE FOR ROUGH WORK PT.O
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19.  UEYERRIAT THTeR M s ARG SEE] 41 HRA HERE AT Gleled® Sivd e ge

et ?

(a) IH WHR I Fg

(b) =1 ME - HHE aww

(c) @ A g e

(d) woERa STFL T AT T

FEH! DM T FHET IR ?

(1 () 2 (@ 3 (9 4) (a)

Which of the following schemes was initiated by the government of Maharashtra to provide
to the Gram Panchayats an independent building of their own ?

(a) Aaple Sarkar Seva Kendra

(b) Aamcha Gaon - Aamcha Vikas

(c) Late Gopinath Mundhe Yojana

(d) Balasaheb Thackeray Smriti Matoshree Yojana

Which of the option(s) given above is correct ?

1 ® 2 @ ®) © 4) (@

20. T TS ASA Sy AT ER A E Gieieldehl SIS Y& L0 A ?

(a) FISUE Wi TSR Afgen (b) Affem Afeen

(c) enfears TR wfgen (d) faentEa A

et Hia I S 3/ 3T 2

(1) % (d) (2) EH (o) (3) EH (a) (4) “etR T

Dr. AP.J. Abdul Kalam Amrit Diet Scheme was launched for which of the following ?
(a) Pregnant Women in slum area  (b) Uneducated Women
(c) Pregnant tribal Women (d) Unmarried mothers

Which of the option(s) given above is/are correct ?

(1) Only (d) (2) Only (c) (3) Only (a) (4) Al of the above

oAl HATHEGS 9T/ SPACE FOR ROUGH WORK
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T Fved fasm Aemsa @@ (NSDC) FIUr faum swire a1 ?

(1) avTen wedH fafay yersm Asmr gt et s

(2) 2022 wd 24 FEETT &9 11.92 & ATHE@E! TS i g
(3) ‘IS A AT IR Frered R FE T

(4) Hreeg TR S FH FOR G 6% IO F9 STAH,

Which sentence is not correct about National Skill Development Corporation (NSDC) ?

(1) Determining and training various types of employment opportunities with the help of
industries.

(2) 24 important areas will have 11.92 crore human resources requirement by 2022.
(3) Under the “‘Udan Yojana’, established Skill Training Organizations all over the Country.
(4) Loan available at 6% interest rate to the Institutes working in Skill Training.

22,

e se aeau, fei fFad wfdsy w0, qeften foaomet dieed 0 JEet e
I A1 TEferoara 44 ?

(1) ST e (2) I dre

(3) 3few mith Hige wedn A (4) wEh w= A G

Which one of the following scheme is being implemented for increasing birth rate of girls,
prohibit sex selection and encourage girls for education ?

(1) Bal Sangopan Yojana (2) Manodhairya Yojana

(3) Indira Gandhi Maternity Assistance Yojana (4) Mazi Kanya Bhagyshree Yojana

23.

UMY FrETgaE FHR/ o fqam/ S - w6 ?

(a) A= faem iy arow=n TR 3@,

(b) AR FHIA Tl 3TN

(c) T WiEU-de <A Jr diea.

i I

(1) ¥ () (2) ¥ () @ G (4 TETE
Which statement/s is/are not correct regarding the functions of Grampanchayat ?
(a) Prioritize the use of available development funds.

(b) To determine the beneficiaries of welfare schemes.

()  Resolve the dispute in the village by Judicial way.
Answer Options :

(1) Only (a) (2) Only (0 () (and(c)  (4) Neither

oAl HIHMETS AR/ SPACE FOR ROUGH WORK
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24, Toongm G BN TS dEeH faeEe Sew S ?
(a) WS HUEE SURENT a6
(b) SAEHIF 9 Wl AR 96
() RF Hwed J J9IF RN TS

it 39N
(1) % (a) (2) (a) i (b)
(3) (a) MW (c) @) (@), ®) T ()

Which are the factors of Human Resources Development achieved through Education ?
(a) Increase in human resources productivity

(b) Increase in professional and regional dynamic

(c) Increase in skills and conceptual skills

Answer Options :

(1) Only (a) (2)  (a) and (b)

(3) (@) and (c) 4)  (a) (b) and ()

25, WYEd UgHd fa&m™ eae 2019 TR WRaren qHd fasm fdenismmeast soe faum simw
e ?
(a) TTIE ATEG Y 30.5% T SRTES THIVIE USHIR (15 o6 7for Tndsn SRa SarTerier)
40.6% 3.
(b) T HHT WO (U o fofad S 174 97,
(c) ST 9o IMgAM (aW) 69.4 9 AT fawe fwns 0.829 TR.
(d) st e faer 99 12.3 9 IR FEIR WS 17.6% TR

Wﬁﬂ 33:1' :
(1) (a), (b) W (c) (2)  (b), () nfw (d)
(3)  (a) 0 (b) () ud ugig = anRa

According to the United Nations Development Report 2019, which statements about India’s
Human Development Index are correct ?

(a) Total of 30.5% Internet users and Employment to Population Ratio (15 yrs. and above)
is 40.6%.

{(b) Maternal Mortality Ratio (deaths per 1,00,000 live births) is 174.

(c) Life expectancy at birth (years) 69.4 and Gender Development Index it is 0.829.
(d) Expected schooling year 12.3 and skilled manpower is 17.6%.

Answer Options :

(1) (@), (b) and () (2) () (9 and (d)

(3) (a) and (b} (4) All options are correct

wHeAT HATHS ST/ SPACE FOR ROUGH WORK
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26. SIaH AR Gee TR U HE F:d ?
(a) TEIFE SN AT FHEOL
(b) oo ST FREE i 9 e,
(¢) T FRIHHTEA W SO,
(d) wiee Frmw, slmyia it yErmer AR e U,

TTTIH! IO TETT e AR/ 3 ?
(1) ™ (o) (2) K (d)
(3) (@), () 3 (d) (4) AT

Which of the following are the functions of the World Health Organization ?
(a) A Scientific Survey of infectious diseases.

(b) Creation and enforcement of International Health Law.

(c) To give priority to the vaccination programme.

(d) To Assess Pest control, Drugs and Laboratory Techniques.

Which of the opton(s) given above is/are incorrect ?

(1) Only (0 (2) Only (d)

(3) (a), {c) and (d) {4) None of the above

27. WAy Hv shEEmrha A e iR qeli ¥9 ue €99 9 o
U dieET qEfauET S ?

(a) 99 AfEE (b) Wi e

(c) 0T g (d) T =z A

e HI AT ST 3T/ 3T ?

(1) a2 (a) (2) A3 (0) @) @) (@ (2 ()

Which of the following campaigns has been implemented to give Sanitary napkins for only
T 5 to teenage girls in rural areas ?

(a) Zep Abhiyan (b) Pratisad Abhiyan

(c) Umed Abhiyan (d) Gramin Swachhata Abhiyan

Which of the option(s) given above is/are correct ?

(1)  Only (a) (2) Only (c) (3) (@) and (c) (4) (2) and (d)

HoAT HIATAIS T/ SPACE FOR ROUGH WORK PT.O
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28, &M U= ffors HRw 2016 Ffvem woamEt & R, gerevey fid feeh He.
(a) formdis rER emd, sfee Rt aifae femn afitve, TreEn Feas Favmsd Jong 9
FA T
(b) T wrEEt TS faer A e,
() Freaqy a HaEETE fsomeR o1 o
(d) THW SIS = 6% a1 W faeomer wyat

Tiatet o faur/fau™ aeT e/ o ?
(1) % (a) (2) e (b)
(3) (a), (c) W (d) (4) Sl wd

Recommendations made by T.S.R. Subramanyam Committee for the determination of the
new National Education Policy 2016.

(a) Fundamental changes should be made to the governing bodies such as University Grants
Commission, All India Council for Technical Education.

(b) Education upto 5th Class should be in mother tongue.

{c) Emphasis should be placed on Skill and Vocational Education.
(d) 6% of the total GDP should be spent on Education.

Which of the statement(s) given above is/are correct ?

(1) Only (a) (2) Only (b

(3) (a), {c) and (d) (4) All of the above

29, YRARS SIFHEE e FeTayH AR :
(a) & TUiR 954 st
(b) TUEH TAA 71 TH AT
(c) Tt elipdiE qeu 9 IURAST AR,
(d) BT THI R 9T & e iy
T Frern T W o ?
(1) (@) 3 () (2) (a) 3 (b) @) (o) = (d) (4) (b) T (o)
Nature of Indian Population are as follows :
{a) Sex ratio is 954.
(b) The average life expectancy is 71 years.
{(c) Half of the population is young and productive.
(d) Literacy ratio is more in urban areas and male.

Which of the following options is true ? |

(1)  (a)and (c) (2) (a) and (b) (3)  (c) and (d) (4) (b)and (9

FoeHT HIMTETS W/ SPACE FOR ROUGH WORK
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30. e Wi g 37 YR FIea Geilerden! hiowed di=1 qHee gl ? 403937
() ASTIRTE TR frfor e 0.
(b) T S G2TY HA.
(c) e At enftr wrerT saeREE ARl A Wes Seu.
(d) VIS e YaiTed qigREst St Fesdd HeY gl

it 39
1) (2 s ) (2) () 3 ()
(3) (c) MM (d) 4 ), (o) 3 (d)

Basic services to urban poor scheme covers which of the following services ?
(a) Creating means of employment.

(b)  Allocation of free houses.

(c) Proper matching between asset creation and asset management.

(d) Services to the urban poor include water supply and sanitation.
Answer Options :

(1) (2) and (b) (2) (b and (©)

() (0 and (d) (@) () () and (d)

31. (a) VHHEIE AR A FrAIfoR forehmaTen wem ey 3T
(b) TIHEE FH A W= e faerer TR gl
(c) TienEE Ay SH™ & = 9o wfseh foehmamer €.
(d) TFEEE SFHR GU S [ gu FH S A S Fe g faeeen AR 3.
T FoN faum/ faum StE e/ 3R ?
M) (@) 3 (o) @) (a), () T (d)
(3)  (b), () =M () (4) wder wd
(a) The size of the population and social development are interrelated.
(b) If population is low then it affects social development.

(c) Even if the population is high, it affects social development.
(d) Whether the size of the population is too high or too low, both are detrimental to social

development.
Which of the statement(s) given above is/are correct ?
(1) (a) and (9 (2) (@), (b) and (d)
3y (b). (c) and (d) (4) All of the above

HoT TS 9N/ SPACE FOR ROUGH WORK PT.0
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32, AT IR TEE 1 9 2015 § 31 7 2019 wee frw weie aweE dom s
ST ?

(a) AUl TS Hes v Sasd wet gal A

(b) T M VAR Fe Hal A

(c) FHH A

(d) T ST T et Het gt arer

S Fo T TET o ?

1 (@ 2 © @3 @ 4 ®

The scheme of crop loan waiver from 1%t April, 2015 to 315 March 2019 is known as

(a) Chhatrapati Shivaji Maharaj Swabhimani Farmer Debt Relief Scheme.
(b) Mahatma Gandhi Farmer's loan waiver scheme.

() KUSUM Yojana

(d) Mahatma Jyotirao Phule Shetkari Karj Mukti Yojana

Which of the option given above is correct ?

(1) (@ 2 © 3 @ 4 ()

33. U= 3 foen Afwrm (RUSA) (@i geshian R fear s :
(a) e faromaret FAdfR g aREs @ SAHaESEt w.
(b) ufea sfewe wifta 7 fify == 2vg w9 e,
(c) HuA, AETIfHS 9 SHEas Ramaet JedRe 3.
(d) = foeons Sveismtor FHI.
T Fo TwT, fram qa IR/ 3T 2

(1) ™ (a) 2 (@) ()

(3) (b)) = (d) (4) ot =

In the Rashtriva Uchchatar Shiksha Abhiyan (RUSA) the following factors are
emphasized :

(a) Enhance funding for school education and implement it.

(b) To make proper coordination of the expected target and the funds.
(c) Motivation for Research, Innovation and Vocational Education.
(d) Globalization of Higher Education.

Which of the statement(s) given above is/are incorrect ?

(1) Only () (2) (2)and ()

(3) (b), (c) and (d) (4) All of the above

HeAT HIMES AT/ SPACE FOR ROUGH WORK
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34, QHEE a6 SN Wl faRmTEE Ay ad e qEt 1798 T WeeE Hioe e
TiEH ?
(a) hEEREl SR TafE IavamEt Jas dam Jaa.
(b)y TaamEr= 99W 9.
() dwueEd 9, T3, T, %ﬁ'q,mwmwaaﬁ.

S HUR faur/ faur ge@ie a1/ 31 2
(1) K (a) (2) (a) 30 ()
(3) (a), (b) 3 (o) (4) STt AR

Which of the following ideas was presented by Thomas Robert Malthus in 1798 on Population
growth and Social development ?

(a) Maintaining Moral restrain to control the size of the population.

(b) Increasing the age of Marriage.

() The decline in population is due to drought, floods, earthquakes and starvation.
Which of the statement(s) given above is/are incorrect ?

(1) Only (a) @) (a) and (0

(3) (a), (b) and (c) {4) None of the above

35. WRANdIE Ul T FHIFA AT o] ?
(a) VIR aTer Ty A
(b) it ST wEH
(c) TEATE HISA g
(d) TREEUF <Ua faren gwEst

it 39
1) (a) ¥nfor (o) (2) (b) O (d)
B) (), () 3f (d) @) (a), (b) ¥ ()

Which are the programme to eliminate malnutrition problems in India ?
{a) Integrated Child Development Programme

(b) Jeevan Unnati Programme

{¢) Midday Meal Programme

(d) Ration Provide at Affordable Rate

Answer Options :

(1) (a) and (0 @ (®)and d)

(G) (@) () and (d) @ @) (®) and (O

oAl HMEE NT/SPACE FOR ROUGH WORK pT
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36. W B e fEm (wn) =t SR Hod swrd ?
(a) fafea Freui=h qda Fe Toa Heist T TorE gurel,
(b) ToH foramdiaim= W@rRaad e U ST WEeHed JIEH HRO,
(c) Hewal, defor suftn e gomeimed geron gt .
(d) nfa=rqet defore T3 sufn vgot famfaa sufn wenf L.
atEt 9
(1) (a) S (b) (2 (a), (b) WA (o)
(3) (), () nfor(d) (4) T T AR A
Which are the objectives of Rashtriya Uchchatar Shiksha Abhiyan (RUSA) ?
(a) Improve the overall quality of State Institutions by ensuring conformity to prescribed
norms.
{(b) Promoting autonomy in State Universities and improving Governance in Institutions.
(c) Ensure reforms in the Affiliation, Academic and Examination systems.
(d) Develop and disseminate innovative Educational Techniques and Methods.
Answer Options :
(1) (a)and (b) (2) (a) (b) and ()
(3) (b), (c) and (d} (4) All options are correct
37. 'WiEE SAeY AW A Eiclerie dron 3feR Sed ?
(a) AT Wedie faw F0 onfiE o7,
(b) WeaHE W e, SE G, TE W g e .
(c) T RTIdet TR S aeer F.
(d) VeIF QUM AU FaeREHde U e Ideh Ho.
T FHIEI T3 T TR/ e 2
(1) %H (c) (@) (a) 3 ()
() (a) (b) 3 (d) (4) =S

Which of the following are the objectives of the ‘Sansad Adarsh Gram Yojana’ ?
(a) Rural development is expected to be main.

(b) To develop Smart Schools, Health Facilities, Pakka houses etc. in the villages.
{c) Renovation of infrastructure in rural areas.

(d) Every MP is expected to adopt a village in his constituency.

Which of the option(s) given above is/are incorrect ?

(1) Only (9 (2) (@ and (©)

(3) (a), (b) and (d) (4) None of the above

AT FHWTETS S/ SPACE FOR ROUGH WORK
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38, ‘URES AN’ @ Hheu Wielerdsh! Hiorn Seereht Hafud e ?

(a) T T (b) S /A (c) Taum da (d) T g
FCTih! IV T4 I 3TR/3TR4 ?

(1) ™ (a) (2) = (b)

@) (@), () 3 (d) @) et w4

Concept of ‘Bike Ambulance’ is associated with which of the following services ?

(@) Trainservices (b) Health services (c) Airline services (d) Defence services
Which of the option(s) given above is/are incorrect ?

(1)  Only (a) (2) Only (b)

3) (@), {c) and (d) (4) Al of the above

39. UGN HiitE 9% AevaEE € gew FHuie Jee S

(@) X (b) X
(c) TIAR (d) alede! A
it 3

1) (a) 30 (o) (2) () S () (3) (@ &E®) (4 ()

The following factors are considered determining the Natural Growth of the Population :
(a) Birth Rate (b) Death Rate

(c) Migration (d) None of the above

Answer Options :

(1) (a) and (9) (2) (b)and () (3) (@) and (b) (4)  Only (d)

40. GRS HIvE fau e FRd ?
(a) UOEE TS TS U il W= faswd g sforars et fHeere!.
(b) I AT 369 9 faw g = e,
(c) TRIITAA HaH 45 39 THUEEE T HEA A SRR 926 TUE Y HoaH

fyr oo,
gl 3y :
(1) (a) 3 (b) 2 (a), (b) S (c)
3) (a) (4) G4 afg It anRd

Which of the following statement is true ?

(a) The Panchayat Raj System provided an opportunity for the rural people to develop
themselves.

(b) The rise and development of rural leadership was accelerated.

(c)  Article 45 of the Constitution established Gram Panchayats and gave them the right to
function as a component of Swarajya.

Answer Options :

(1) (a) and (b) @) (), (b) and (9

3) () (4) All options are correct

HoAT HIAEIS FRT/SPACE FOR ROUGH WORK P.T.O
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41. T TS

(2) T & A Forva A S,

(b) TRl T AT # A ¥ Xfavar .

(c) WIS, ShedHAT, SRl 9 FHE IATaIe HeaTsAl STHR JoHra,

(d) FEATTER =Rl S e ST 3ue § 3oy HEdH 69,

et o, fa Sl oy e 2
(1) % () (2)  (b) ST (c)
(3) (), (b) 3T (d) (4) IOt Tl

Values means :
(a) Values are standards of behaviour.
(b) To decide the criteria of good or bad thinks.

(¢)  Evaluation is done according to values the emotions, imagination, person and society
etc.

{d) A person decides his/her goals and evaluates other as per values.
Which of the above statement(s) is/are incorrect ?

(1) Only () (2) () and (9

(3) (a), (b) and (d) (4) None of the above

42. ‘'gge SN O O Y ANREIE I T TTEEER S S S A d Yo Tegd | ¥ e Hiof
Fel g ?
(1) <. fuadt w4 (2) . S, A5HER
(3) <l QUEE FEE (4) “I.wE g4

“Family is still what it was and at the same time it was not what it is”, who said this
statement ?

(1) Dr. Irawati Karve (2) Dr. D.N. Majumdar
(3} Dr. Sudhatai Kaldate (4) G.S. Ghure

ol TS S/ SPACE FOR ROUGH WORK
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o A Feta STiear ST o Eierardt srer fae Wi ?
() fa ger o fa=m Femm

(b) SFH T FH fowre A

(¢} onfcaret Y vg A

(d) e it Hy e A

Tt F T S R A ?

1) WH (a) (2) wE (b) 3) (a) 3T (b) @) whedw! we
Under which scheme Schedule Tribes are given subsidy to dig wells ?
(a) Birsa Munda Krushi Sinchan Yojana

(b} Thakkar Bapp Krushi Vikas Yojana

{c} Adiwashi Krushi Pump Yojana

(dy Mahatma Gandhi Krushi Sinchan Yojana

Which of the option(s} given above is/are correct ?
(1) Only (a) {2) Only (b) (3) (a) and (b} (4) All of the above

44.

et TER faumA sie

(a) WiFEHRHE T WEEi=n e Jode i SauMIaR ®RE FqEE! PESA <0
ey Hgd wgar aaae.

(b)  wRTH el T WA TSR 1 Siftn Hfgdean Sifusrir=a Sawiqed <=9 375 PESA
IS TR AT el AR,

(c) WA <R Taa anft FEmiT wewm snieardt amay aifts e Sa 9.

(d) UET (PESA) FE @1 BV THEYT Afeardl S Wa gt sTafem T,

it I

(1) (a) S0 (b) (2)  (b). (c) 3T (d)

@) (o () DERCE LI

Identify correct statement/s from the following :

(a) The PASOA a movement of indigenous Mexicans, referred to PESA to draft the legislation
in accordance with their Constitutions.

(b) The Mahatma Gandhi National Rural Employment Act and the Right to Information
Act have largely used the provisions of the PESA Act.

(c) The Supreme Court had made Tribal Gram Sabhas more competent in the Samtha and
Niyamgiri cases.

(d) With the enactment of the PESA Act, the supremacy of the Gram Sabha in the tribal
areas remained intact.

Answer Options :

(1) (@) and (b) (2) (), () and (d)

(@) (9 and (d) ) () and (d)

HoAT HIVTHE SIAT/SPACE FOR ROUGH WORK
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45. WU HIEN QTS HIEEE TeEre TR TR ?

(1) TEHER (2 T

3) faE (4) TSl THS A
Which of the following is the key type of Social Norms ?

(1) Folkways (2) Family

(3) Marriage (4) None of the above

46. WENTIH! DM HRAE TS Tl SRTS WA 96 01 TEhUHe] Feara i Semed
AR ?

(1) ¥ ¥a1 699 2) G FHT HEFA

(3) WRAIE FHIIA (4) oIS

Which of the following Indian NGO has been working for elderly people at International
Level ?

(1) Maternal Service Group (2) Welfare of Old-age

(3} Indian Shelter of Old-age (4) Help-Age

47. TeAdEra WESR SINEe! a9 ?
(a) R0 HO Uil GAgSt  (b)  Hiehdl ol dieenaet

(c) FHIEET (d) e
Feteh! v TEig S0ET SR/ 3T ?
(1) ¥ (a) (2) I (d) (3) ' (c) 4) (a), (b) 309 (d)

- Day centers are established for whom ?
(a) for children of working parents (b) for working womens
(c) for the elderly (d) for the young people
Which of the option(s) given above is/are correct ?

(1)  Only (3) (2) Only (d) (3) Only () (4) (a) (b) and (d)

Tl HIFETS AT/ SPACE FOR ROUGH WORK
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48, GRS U/ HIT FIF T Hoard! G FERt (UNIPP) a1 W4 Wil Bt/ o, i
o el Tiehi= TohiT SUSH LvATS! Fefud I TaeiT 96 Rom ufeen Swfaw
-G YRR (2011) B,

(a) ST g7 FH (ILO)

(b) TgF T WG Toh SA-AGHK FEed (OHCHR)
() TgFa T a fedt (UNICEF)

(d) wgF T foe™ FEFA (UNDP)

gy I
(1) ad (b) AT (d) (2) T (a), (b) MW (c)
(3) W (c) Sfr (d) 4) STl w4

Which of the following Organisation/ s is/ are the part of UN-Indigenous People’s Partnership
(UNIPP) which was the first global inter-agency initiative (2011) to support Country efforts
to advance indigenous peoples rights ?

(a) International Labour Organization {ILO)

(b) Office of the United Nations High Commissioner for Human Rights (OHCHR)

(¢) United Nations Children’s Fund (UNICEF)

(d) United Nations Development Programme (UNDP)

Answer Options :

(1) (b)and (d) only (@ (), (b) and (<) only

(3) (c) and (d) only (4) All of the above

49. WS faumtes mon faum/3 sEt 9R/a°?

(a) 1892 " faten g1 I AR Sermen gE) falyma a3, ﬂ%ﬁéﬂl&aﬁm‘%‘lm
T ‘IR iR § T e Here w s M| R

(b) TER Tedes U1 foaT=a1 IS S T T AT § T&A T 2.

it S

(1) ™ (a) (2) B (b)

(@) = (@) s (b) (4) st HIVRE T

Which of the following statement/s is/are correct ?

{(a) Birsa Munda had himself led the protest against demarcation of reserved forest in 1892;
Mahashweta Devi's celebrated work ‘Aranyer Adhikar” derives its title from the concern
for the forest.

(b) It was not forest but land that was the main issue in the Sardar Movement and Birsa's

uprising.
Answer Options :
() (a) only ) () only
(3) Both (a) and (b) (4) None of the above

FHodT FAHIS AT/ SPACE FOR ROUGH WORK PT.O
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WreAteyeR! S faym/3 qiET 3Rd ?

(a)  2009-2010 WEA TEW A1 T WS A0 o G agyq A= snaasmavis
T .

(b) =HYU AT FATEAAEHES TR Jahiat yfHS® RUA @ 0N A,

(c) ot anfearet fowma @ Suforcfen T @ ofe Ween o1 Soadu) sHe aeg s
e,

(d) o WU W Hiedl R SEE 9 faada Fvan st

gaig 39T :
(1) (a) 3001 (b) (2) (a), (b) M (c)
(3)  (b), (c) 30 (d) (4) w4 vat S TR

Which of the following statement/s is/are true ?

(a) In 2009-2010, Landesa a Rural Development Organization in the State of Odisha
evaluated the implementation of the Vasundhara Yojana.

{(b) Local youth was selected as Land co-ordinators for implementation of Vasundhara
Yojana.

(c) The land allotment program was jointly implemented by Odisha Tribal Development
and livelihood scheme and Landesa sanstha.

(d) 16,000 Land leases were distributed in the village under this project.

Answer Options :

(1) (a) and (b) (2) (a), (b) and (c)

(3) (b), (c) and (d) (4) All options are correct

51.

WeAeTiH! M YRAE THRATHA o 9 Aifqae SEvade! dehet fiesd ?

(a) ST T THART HrAH STERERAY I HUE.

(b)  SfewrEt snftr wrenfSra SR favm srarwfEr T FeEt.

() foF g UEEREIS! WY JE TaR HUG.

(d) THURE JTRTHERET GRS Starasrl sied Afae qoaid 9ol .

FiereR! HIUA faur/faun afeR a1/ omed ?

(1) *aB @ = (2) F9S(b) (3) (a), (b) A () (4) IR ¥

Which of the following strengthen/s Indian Media to Promote Values and Ethical

Principles ? .

(a) To follow the code of conduct through printed and audiovisual media.

(b) Special code of conduct for advertisements and sponsored programs should be
prepared.

(c) Create a healthy environment to follow ethical values.

(d) Follow the social responsibility as well as ethical values for corporate businesses.

Which of the statement(s) given above is/are correct ?
(1) Only (a) {2) Only (b) (3) (@), (p)and (c) (4) Allof the above

HoAT HHTHS AT/ SPACE FOR ROUGH WORK
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52. WIEIAUH! UMl T TG 3 38 ?
“ofi o AR 2" W WA o Hedrdn e o ?

(a) R T (b) Wl T

) Jafws g (d) e gl

ot 3T

(1) %K (a) 2) % (b) (3) W (9 (4) W (d)

Which one of the following is a correct option ?

The question “Who I am ?” connotes which value ?

(a) Universal Values {p) Cultural Values
(c) Individual Values (d) Social Values

Answer Options :

(1) (a) only (2) (b)only (3) () only (4) (d) only

53. TERTE YEATAT ' M-Td-T" a1 ITRAET Y@ 3299 HIT 2
(a) WEHEA TgEEd I Gaidt Srae aefan
(b) eI =Rt wadt fmin F.
(c) T snfn g vt Yeifeda fre Sl demE.

FUR! PV TG BT 3 ?
(1) %= (b) (2) HH (a)
(3) WK (o) @) STt @

What is the main objective of ‘Go-Girl-Go’ programme of Government of Maharashtra ?
{a) Increase fitness and interest in sports among girls.

{b) Develop good habits among girls.

{c) To extend culture of sports to girls in rural and remote areas.

Which of the option given above is incorrect ?

(1) Only (b) 2 Only (a)

(3) Only (¢ (4) None of the above

FoAl HAG! SIFT/SPACE FOR ROUGH WORK PT.O
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54. URIshi-T Wil TH SUA ST Hellel S S S0 ST S8 ?
(a) Ui Imfor S8 AFN ufiwan suftn weaw sifufm 2007
(b) SIS IO FHEAI 2016
() Tt do= == 2018
(d) Fo<F IaH FA 2005

FheTIht FHIUTH AT SET TR/ 3 ?
(1) W (a) (2) (b) (T (c)
(3) (a), (b) 307 (d) (4) e w4

Which enactment Mandates Children to pay monthly expenses for their parents ?
(a) The Maintenance and Welfare of Parents and Senior Citizens Act 2007

{b) Senior Citizens Act 2016

(¢) Retirement Act 2018

(d) Old-age Act 2005

Which of the option(s) given above is/are correct ?

(1) Only (3) (2) (b)and (c)

(3) (a), (b) and (d) (4) Al of the above

55. W@eiierden! shiven dferesi 98 ‘I’ YRa go SN o= ganige! R R 7

(a) e Iusifa s fawm (b) Her faarr Ao Sf-gew FEEd

(c) oA W& (d) R Tuds anfin writar

AT I

(1) W (a) SN (o) (@) R (a), (b) A ()

(3) T (c) (4) =aw

UNICEEF has been working in India for the rights of children and young people with speciality /
ies of :

(a) Child survival and development {b) Basic education and gender equality
(c) Child protection (d) Policy Advocacy and Partnership
Answer Options :

(1) (a) and (c) only (2) (a), (b) and (c) only

(3) (c) only (4) All of the above

HoelT HUES! FRM/SPACE FOR ROUGH WORK
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56. SETRTRIEE MaK Tfedt Aemm (i 81) 1967 #E HIoRE WA Fe AR A ?
(1) s (2) IS 3) TR (4)
Which state in India started the first Balgram (Remand Home) for child criminals in 1967 ?
(1) Karnataka (2) Rajasthan (3) Manipur (4) Haryana
57. wFEl siftr 3 =R For fafeaien Havia @fers S W@ e A gl
TR, T ST - Uit ¥ e SR 2
(a) st (b) FRSHTHITE
(c) 3I=a (d) MR
i I ¢
(1) & () (2) I (b) @) HH () (4) WK (d)
Which of the following abbreviated scheme has components such as prevention, Rescue,
Rehabilitation and Re-integration of victims of Trafficking and commercial sexual
exploitation ?
(a) BBBP (b) RGSEAB
(c) UJJAWALA (d) SWADHAR
Answer Options :
(1)  (a) only (2) (b)only 3) () only (4) (d)only
58. WiCIds! FIURT fauT/S At Te/d ?

(@) 411 Tfra 2018 s 38 T WRAT ga RredSarE! T 2.

(b) 11 @ 13 Ta 2018 wa 5 WERE yRda Jar RredeeE sefsar 2.

(c) 1% 7 3R 2018 Td 51 wew Yerersy ga1 Wfaf1eh HearE! wRa we.

(@) 57 12 fed=r 2018 wfa 15 v fefifem gan wiaFe A=t wRa e,

i 39

(1) (2 e (b) @ @ @) () b) A @ @

Which of the following statement/s is/are incorrect ?

(a) Visit of 38 member Indian Youth Delegation to Nepal from 4th to 11th April, 2018.

(b) Visit of 5 member Indian Youth Delegation to Cambodia from 11t to 13t April, 2018.

c)  Visit of 51 member Palestine’s Youth Delegation to India from 1% to 7th October, 2018.
d) Visit of 15 member Kyrgyzstan Youth Delegation to India from 5t to 12th December,

2018.
Answer Options :
(1)  (a) and (b) (2) () and (d) (3)  (a), (b) and () @ @

HoAl HHE! AN/ SPACE FOR ROUGH WORK
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59, FIVRIT WIH] HEARHS SRSTIRI Higal JH0TER F5 8% Yy ?

i 6T
(1) T (a) 30f0 (d) (2) H (a), (b) IO (c)
(3) W (d) 4) TtH gd

Structural unemployment can be reduced to great extent by :

(a) Providing retraining

(b) On job training

(c) Making people occupationally flexible

(d) Motivating people to change existing employment structure
Answer Options :

(1) (a) and (d) only (2) (a), (b) and (c) only
(3) (d)only (4) All of the above

60. T TG e SR WaReg 0= F910 2014 1 2016 1 Fiemadid w7 8 ?

(a) =4 - 191 (by HENE - 61

(c) Y& - 122 (d) ®f@mm - 161
At S

(1) (2) ¥ (b) (2) () W ()

(3)  (b), (c) AN (d) @) () (b) 3 ()
How is the maternal mortality rate per one lakh live births from 2014 to 2016 ?
(@) Gujarat - 191 (b) Maharashtra - 61
(c) Punjab - 122 (d) Haryana - 161
Answer Options :

(1)  (a) and (b) (2) (b)and ()

(3)  (b). (c) and (d) 4) (), (b) and (c)
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61. Trdrenerada v = svftn wre afvres i Siew oo
= (1) Aferezd (1)
() FrirerrmrEH () YRgeta Fdremeade vaRE =T
(b) TrdiheTae (i) $.9. 700 - 750 HHIA Wepd HH
(c) = Trdraaesm™ (i) TeEfTH T wed
(d) FHsHA fdEw (iv) Tror wfrere e 7o
it I
@ (b) () (d)
1 @ @ 3§ @)
2) (v) G G) @
) G @ (v (@)
@) @@ @) @ @
Match the following between Indian Text of ethics and their feature.
Text (I) Feature (II)
(a) Nitivakyamratam (i) Bhartrahari's hundred verses on ethics
(b) Nitikalpataru (i) A Sanskrit work belonging to C. 700 - 750 CE
(c) Nitisatakam (i) Nectar of Science of Polity
(d) Kamandakiya Nitisara (iv) Attributed to King Bhoja
Answer Options :
@ ®) (@ (d
O 6 @ @ )
(2 v @ @ 6
G) @ @ v ()
@) @ @) @ @
62, VIRARITS WIElCTdsH! HIvHE SIS FHel HHeAT/ el Fel e 2

(1) TIA e @ Ty smEa

(3) e A (4) M FERTE

Which Tribal Community has Heredity (lineage) Organization in India ?
(1) Santhal Tribe (2) Bhill Tribe

(3) Gond Tribe (4) Colam Tribe

oAl RIS AR/ SPACE FOR ROUGH WORK
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63. THET RS faum FHesd :

(a)

(b)
{€)
(d)

At Fe1am & Ao wEa i e 17 GRS 1994 39 wEddl Gen Ak g%
FHIAN AT

1 IS S WA 34 A JS19 {51 ST em acer g% oA

TS AT JSTFATE HT HE=AT 200 AN TR,

A YA HUAIE S S AR S e I 12,000 & SR AR, g
wigarE T 500 YEF SAHIE TN udm I,

it I

(1)

(a) 2 ® 3 ( @ (@

Point out the correct statement :

(@)
(b)

(©)
(d)

Matoshri Vruddhashram, this scheme was started as per Government Resolution dated
17 November 1994 through NGO.

Under this scheme 34 Matoshri old-age homes are functioning in the State without any
grant.

The approved number of each Matoshri old-age home is 200.

For admission, senior citizens who have their own annual income of ¥ 12,000 admission
is given for a fee of T 500 per month.

Answer Options :

(1)

(a) 2 ® @) (© @ (4

64. LR YA ASHI oo TTHMTE FRIEH A FHI0RA TRiF Feaied SR KRG gt 30 2

(a) U THHEA (b) AR BE
(c)  HETeH Tk (d) SHEYHN TEN
gaiet S

(1) I (a) 0 (d) (2) EH (a) 3T (b)
(3) T (o) (4) T (a)

National Service Scheme (NSS) being youth development programme was inspired by the
ideals of which national leader/s ?

(@)
(c)

(1)

Sarwapalli Radhakrishnan (b) Jawaharlal Nehru

Mahatma Gandhi (d) Jayaprakash Narayan
Answer Options :

(a) and (d) only (2) (a) and (b) only

(c) only (4) (a)only

(3)

HeAl HIHS I/ SPACE FOR ROUGH WORK
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65. TENIS VEAH Tearier anfeard o favr snfears emdier sifq dig HOrd Sraeriare! o HarEt

T Fedl ?

(a) foy @rm &= (b) T doRAT HF

(€) I APEE 7 d) T AfawE 8
FOATH! FivEl TG T 3T ?

(1) = (b) (2) TFH (a) (3) W (c) (4) wH (d)

Which center was established by the Government of Maharashtra to deal with over
malnourished children from tribal and non-tribal areas in the state ?

(a) Shishu Swagat Kendra (b) Nav Tejaswini Kendra
(c) Umed Abhiyan Kendra (d) Gram Balvikas Kendra

Which of the option given above is correct ?
(1)  Only (b) (2)  Only (a) (3) Only (c) (4) Only (d)

66. 1w e Aol wioen I AR e S 2

(a) o9 @ ¥ (b) wfeen TeaemsA

(c) wfeen Qi wHGT=w (d) TEER R A

it 39

(1) (a) > (b) (2)  (a), (b) =00 ()

3) () (o) 3w (d) (4) T vAiE SR A
Which of the following schemes are implemented under Nirbhaya Fund ?
(a) One Stop Centre (b) Women Helpline

(c) Mahila Police Volunteers (d) Swadhar Greh Scheme
Answer Options :

(1) (a) and (b) (2) (a), (b) and (c)

(3) (b), (c) and (d) (4)  All options are correct

Hoedl SIS SR/ SPACE FOR ROUGH WORK P.T.O
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67. S Fifvea FvaEaYET 97 SEE a
(a) HERIHEY HT HIOATE! STHAT AT .
(b) SIS M FHIATH T STGA TE.
(c) M YIS WI Fell Wissl.
(d) =aacier Srdrsg F fifeerd e,
et o faem/ faum geter R/ o ?
(1) ™ (o) (2) e (d)
(3) (a), (b) W () (4) et @
Three basic principles of determining unemployment :
(a) The person must have the ability to work.
(b) The person must have a desire to work.
{(c) Efforts should be made to find work.
(d) The person should get the job automatically.
Which of the statement(s) given above is/are incorrect ?
(1) Only () (2)  Only (d)
(3) (a), (b) and (¢ (4) None of the above

68. WEETIHI FHIR faur /3 SET AE ?
(a) WRaTR 42% Toenfen afeen foaarrm = 9@ ay . (Foee mifsdt srewn, frem-3)
(b) SIS 3 A Tt 1 et RaRTe AR, (IFFEw)

(c) YA 45 ARIYEN Al Heft 99 98 15 =0 SRS faafed 7T oa. (S1oET 2011)

(d) STRETE a1 gET FHHTE T 3ae femiar WHTor St €1, X 1000 STershien i FHI 914 B
(FF9AT 2011)

Tt 39T

(1) H (b) A () (2) W ()

(B8) wH (d) (4) W (o) e (d)

Which of the following staternent/s is/are not correct ?

(a) 42% of the married women in India were married as children (District Information
System for Education-3).

(b) 1in every 3 child brides in the world is a girl in India (UNICEF).

(c) India has more than 45 Lakh girls under 15 years of age who are married with children
(Census 2011).

(d) InIndia the child sex ratio is at the lowest it has ever been with just 914 girls for every
1000 boys (Census 2011).

Answer Options :

(1) (5 and (c) only (2) (a) only

(3) (d) only (4) (c) and (d) only

T hTATETE 9T/ SPACE FOR ROUGH WORK
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69. IeieTdent SIv/d T SUET @ ?
“ e’ FHmY VeEa: 2006 WEY RGN FAG FEd AT TE FOGW A

(@) s (b) T () T () BT
waid I ;

(1) W (a) ST (c) ) R ()

(3) wH () (@) e (b) AT (d)

Which of the following option/s is/are not correct ?
The ASHA programme was first launched in 2006 in following high focus states.

(a) Orissa (b) Rajasthan () Maharashtra (d) Chhattisgarh
Answer Options :

(1) (@) and (c) only (2) (b)only

(3) {c) only (4) (b) and (d) only

70. Wt HivE/A fauE/ S0Et Ty ?
(a) TSI GEREST 1 ¥ 15 iR 2018 Wl UL a1 o ST |Isf A S,
() 31 iRt 2018 st TER TeawwE e a9 o7 Ugra U fad =v W A

3T, ‘

(c) T Fa1 HEg AeHa 2019 A ‘|t g =iy i g sfean’ 71 fawara s oA sfen
Bl

it I

1 o) 2) (a) T (b)

() (a) W () (4) w4 IR TR IR

Which of the following statement/s is/are not correct ?

(a) Swachhata Pandharwada was celebrated from 1%t to 15t" August 2018 under National
Service Scheme.

(b) Sardar Vallabhbhai Patel’s birthday on November 31, 2018 was celebrated as National

Unity Day.

(¢) The National Youth Parliament Festival 2019 was organized under the theme ‘Be the
voice of New India’.

Answer Options :

1 O 2) (a)and (v)

(3) (@ and (¢ (4) All options are correct

Hedl IS 9T/SPACE FOR ROUGH WORK PT.O
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71. 99U faaw A = THIfHSHANR R .
(1) Tages suftr wfaom (2) Ty anfor 59
(3) T anftr TR (4) Toers anftr W
Samagra Shiksha Scheme emphasizes on integration of
(1) Teachers and Training (2) Teachers and Technology
(3) Teachers and Community (4) Teachers and Schools
72. &g WEA AfUTEREES U Hived Wie deen afgdi siees afaego anfoy
. BR g
(1) WA, demdwm. (2) FETA.IN., Ty =LA
(3) WA, WA (4) AR, s A am.
National skill training institutes for women under Central Government provides skill training
through and to women.
(1) CTS., CLTS. . (2) 1LLO., WV.T.P.
(3) CTS., NSTIL 4) B.JI.P,RV.TL
73. SMfdhIHIoTes TSR IURE e oSl .
(a) HETS RN (b) SRR GLeH
(¢) A oM@ (d) T g 9T
gt 36T
(1) T (a) faum d9rg R Q) (a) =0for (b) faur 4 sMea

(3) (c) Wit (d) faum 9rg amea (4) 4 (a), (b), (c) A (d) faum A7 smea
The challenge before education due to globalisation is

(a) Reconstruction of institute (b) Curriculum reconstruction

(c) Growth in competitions (d) Change in examination system
Answer Options :

(1) Only (a) statement is correct (2) (a) and (b) statements are correct

(3) (c) and (d) statements are correct (4) All (a), (b), (c) and (d) statements are correct

Hel HETHIST ST/ SPACE FOR ROUGH WORK
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74, Hvca T anfor e HAed 8 W A sidtd e | 1 A 3.
(1) ¥ g sfem (2) SFAYA e
() & faF™ g (4) H=H 91, Hereh! faw
Ministry of Skill Development and Entrepreneurship is an integral part of the government
policy on .
(1) Make in India (2) Jandhan Yojana
(3) Yuva Vikas Yojana (4) Sabka Saath, Sabka Vikas
75. DIKSHA dor & R,

(1) wehen fraomaEt o

(2) Toermiord S

(3) Tt Ugig WOl fefseer =madis
(4) Toerwien sfasomaEc= ofg

DIKSHA is a Scheme of .

(1) Incentive to girl child for education

(2) Incentive to teachers

)
(3) National digital platform for teachers
(4) App for teacher training

76. WRIAUH! HIUET THITSE HEA A 5 TEHL TEHT AR ?
(a) Of =t wmesa frewurn ArmeErita famneat fafs s
(b) AR, TR, onftn o= H. foeneatT aw=A wfnemo.
(d) w== famea (VINT) & faferse aem geridta (SBC) a5t o 76t 7ea) R faenfy=iart

wfesitears Fer fersaget Fem.
gt 34T ;
1) (a) =0T (d) (2) = (b) (3) W (q) 4 () nfor (o)

Which of the following social welfare schemes are sponsored by Central Government ?
(a) Maintenance allowances to Backward Class Students studying in Sainik School.
(p) Training of Motor Driving to VINT, SBC and OBC students.

(c) Education Loan Scheme.

(d) Savitribai Phule Scholarship for VJNT and SBC Girl students studying in 5t to 7th

Standard.
Answer options :
(1) (a) and (d) (2) only (b) (3) only (c) (4) (b) and (¢)

wHeedl RIS AT/ SPACE FOR ROUGH WORK P.T.0
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77. wrafirs faei fawfaa see -afea T IS T,
(1) TF ®ieqsiu T ) fm
(@) veET 58 (4) AR Bow

The e-content developed by primary teachers will be uploaded on
(1) Whatsapp Groups of Technosavy (2) MITRA

(3) Mobile handset (4} Interactive Board

78. W HveRUiSa A=A AETOR 9 RS S[Eavi Ul Y949 g HE S0 i ?
(1) o9 <R Aifed womedt
(2) LT AEHTS Jie 9ieg
(3) U BT G faam
(4) UL B G TEFR

Who will act as A portal for matching the demand and supply of skilled workforce in the
country ?

(1) Labour Market Information System
(2) National Council of Vocational Training
(3) National Skill Research Division

(4} National Skill Development Co-operation

79, TR MR SRE AN 91 T AR,
(1) SWE (2) SWES 3) feer (4) d=
Gaura Devi Kanyadhan Anudaan Yojana belongs to State.
(1) Uttar Pradesh (2) Uttarakhand (3) Bihar (4) Punjab

HoAT RWHIA FET/SPACE FOR ROUGH WORK
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80. R Hiaumroan frdem wifirem ‘T Y’ =1 THEY FI0AT SR e ?
(1) = rre e (2) S aifre
(3) e RIS (4) feen aRfimem
Subjects of ‘State List’ is mentioned in which schedule of the Indian Constitution ?
(1) Twelfth Schedule (2) Seventh Schedule
(3) Fifth Schedule (4) First Schedule
81. fooreft sreaam Jrov suete ferenein WS TN .
(1) =AEEfE feo (2) TERTR
(3) 3= fem (¢ =<
The scheme of Bifocal curriculum prepares twelfth standard students for
(1) Vocational education (2) Self employment
(3) Higher education (4) All the above
82. VI ST WIehel e HT0A RTE FRI, 2009 7 IR Fheft o1,

(a) WA FITHSTEK 2@ ST,

(b) W famme fae @ g =,
(c) YW STHMRA IUErTeR SEi@ 3au,
(d) 3z fafed =& g& 0.

TogiEt 36T
(1) 9 (a) foum 9= o (2) w4 (o) faum 9ra s
() T (d) faum dm o (4) ¥ (a), (b), (c) 3 (d) faum dra A

RTE Act, 2009 recommended school management to perform the following functions to :
{a) Monitor the working of the school.

(b) Prepare and recommend school development plan.

(c) Monitor the utilisation of the grant received.

(d) Perform such other functions as may be prescribed.

Answer Options :

(1) Only (a) statement is correct (2) Only (c) statement is correct

(3) Only (d) statement is correct (4) All {a), (b), (c) and (d) statements are correct

oA RIS ST/ SPACE FOR ROUGH WORK
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83. il = wryst gn guia S Eeliade ot A 6 FIOIR ST ?
(1)  JHEEE SEYE Fre
(2) W TS G QR
(3) WIfaAteTE Fe T oA s
(4) A g

Which of the following scheme is closed due to the revised scheme Mazi Kanya
Bhagyashree ?

(1) Pradhan Mantri Jandhan Yojana

(2) Beti Bachao - Beti Padhao

(3) Savitribai Phule girl welfare award
(4)

4 Manodhairya Scheme

84, T Sl €rwr 2019, @R ara foreror anfon ST TSR ST SR STeATTRIE T
SRS TR FOATH! TEEH! GIeeTdeh! v TE=l 31 ?

1) g @ WHRITRA () wHAL (4) TAIRE. doAeE

As per New Education Policy (2019) to develop a “National Curricular and Pedagogical
Framework for Early Childhood Care and Education” (NCPFECCE) is the responsibility of
which of the following institute ?

(1) UGC (2) NCERT (3) NCTE (4) Ministry of HRD

85. UEIY ®ived fawm dee FA.
(a) T FEgdl {1 AT
(b) T Hive fawm fret At
(c) T Fivea fasm Hid S
(d) TR Fieed A& Al
Uit Y
0 (@ @ @amE @) © () e
The National Skill Development Mission would
(a) Set up National Qualification framework
(b) Create National Skill Development Fund
(c) Virtual Skill Development Resource Network
(d) Establish a National Skill inventory

Answer Options :
(1) (a) (2) (a) and (b) (3) (9 {4) All of the above

HoT HIATHTS WAT/SPACE FOR ROUGH WORK
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86. WO €9 Ak STt WEY faerur sAfufEm, 2000 T T T mu detva I
S =1 qidl 2.

(a) Wl A <y SEnTEr Yo ST Atk Wi ferr qefedt,

(b) e A S A S R o, St sufn st fren gl @nt 20
(c) iToTh goel SehidTE T8 A= W i,

(d) e 39RE fasE Fer) onfor sers wifecnae qrEnE glawn 2.

e I

(1) % (a) faum 3= sme

(2) wX (b) faum 9rg o

(3) (a) 3NN (b) faum 9w smea

4 (a), (b), (c) 3T (d) T faym A3 smea

In the Right of Children to Free and Compulsory Education Act, 2009 the term compulsory
education means obligation of the appropriate Government is for

(a) Provide free elementary education to every child of the age six to fourteeen years.

(b}  Ensure compulsory admission, attendance and completion of elementary education by
every child of the age six to fourteen years.

(c) Ensure the child belonging to weaker section.

(d} Provide infrastructure including school building teaching staff and learning equipment.
Answer Options :

(1) Only (a) statement is correct

(2) Only (b) statement is correct

(3) Both (a) and (b) statements are correct

(4) All (a), (b), (c) and (d) statements are correct

87. Wi FH= urast Uil A= FAucaev SO $eard aiftich Ieds TR IS
e,
1) T 750 @ ) T1w0dw™ (3) T57 W (4) T 850 @@

Implementation of Mazi Kanya Bhagyashri reform scheme is for family who’s annual income
is

(1) T 7.50 lakh (2) T 10 lakh (3) T5lakh (4) T 850 lakh

FHoAT HATES AT/ SPACE FOR ROUGH WORK 0
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88.

42 A

3= Tosomde a9 e TR WY feia a1

(a) fowm (b) SFHEW

(c) HHEHA (d) T formdts

it 99

1 @ 2) (2 3 (b) (3) (d) (4) ¥ (a), (b), (c) M (d)
In Higher Education National Knowledge Commission has focused on

{a) Expansion (b) Excellence

(c) Inclusion (d) National universities

Answer Options :

1) () (2) (a) and (b) G @ 4) All(a), (b), (c) and (d)

89.

fofay vt st v Seror e Yo =@ ol frere ueia Safores 9)9 2019
sicilic il

(1) Wit frem

(2) ATYf=d STt 9 SR AR e f¥rer

(3) IIHEHE FHSII e e

(4) vl T Fane A s

National Education Policy 2019 recommended to hire teachers who speak various local home
languages for _ .

(1) Education of girl students

(2) Education of children belonging to SC and OBC

)
(3) Education of children from minority community
(4) Education of children from urban poor family

90.

TEieTtR! Siorht Serfrer Heem 2017 =0 Hebmed (o EEE) Gui YRa et it e
et ?

(1) «r¥ fég fammite

(2) W SHERIYT e, STEHEES

(3) 9Rdr foam Heen, SR, FReE

(4) YR G HEd, W, e,

Which of the following educational institute was declared the best in the overall India Ranking
2017 ?

(1) Banaras Hindu University

(2) Indian Institute of Management, Ahmadabad

(3) Indian Institute of Science, Bangalore, Karnataka
(4) Indian Institute of Technology, Madras, Tamil Nadu

FHoAT HIATEES AT/ SPACE FOR ROUGH WORK
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91. hivre Tyerona Safereh Gemvierar ST I 9 FEd q SR STASHTE STkl 3 7

1 We @ =i @) Taas 4y diG®

In which education there is requirement of individual creativity and application of both
knowledge and skill ?

(1) Adult (2) Women (3) Teacher (4) Technical

92. g foew 9 seAE TSR GURIGE VAN MTqT WHIOI Y el o1, 91 Hefua sifawdiel
eI B IR
(1) TSN T Hea : (2) HER 9Rd
() wd T A (4) T T sfEm
India has achieved substantial progress towards improving access to adult education and
learning - regarding this most recently initiative is
(1) National Literacy Mission (2) Sakshar Bharat
(3) Sarva Shiksha Abhiyan (4) Padhna Likhna Abhiyan

93, w@Enft fagerg anfor doagmy emR gi=n Serfoer foani=n T Sl 379 Gieadeh] i
A A o 9 S 2

(a) = fAfdd (b) Toeror snfor Sfew @i=n Hay
(c) foegor == (d) SAeFFR FeT v

(e) Toerr BN ST (h ehtE fowm 9 w6

(g) Tt wfea

i I

(1) (), (b), () 30T (d) @ (2} (), () 3o (£)

@) ®) (o), (f) 31f (g) @) (d), (o). (O 30T (g)

While studying the Educational views of Swami Vivekanand and Rabindranath Tagore which
of their following views are similar ?

(a) Character Formation (b) Relationship between Education and Life
(¢) Education Scheme (d} Teaching Learning Method

(e) Education means self realization {f) Natural Development and freedom

{(g) Proximity to Nature

Answer Options :

1) (@) Bb), ) and () @) () (@, (e and (9

(3)  (b), (e), (f) and (g) @) (d), () (f) and (g)

FoAl HUMEE AT/ SPACE FOR ROUGH WORK PI.O
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94. ‘A’ A ‘B’ AT SeN el

T - A T<-B
( rfufram ) (=)
(a) Ferg fammits sAfuftay (i 1956
(b) e Dafn Fear (AW aw) AfutE ) 2004
(c) Toemdie staEm smam sifufray (iti)y 2006
(d) TR sregsE feao deon sfufem (iv) 2009
et I
@ (@) (o (9
1 @ @) @
@ ) @) @ @)
3 @ @) @ i)
4 @) @ @O @v)
Match the following pairs of Column ‘A’ with ‘B’.
Column - A Column - B
(Name of the Act) (Year)
(a) The Central Universities Act (i) 1956
(b) The Central Educational Institutions (i) 2004
(Reservation in Admission) Act
(c) The University Grant Commission Act (iiiy 2006
(d) The National Commission for (iv) 2009

Minority Education Institutions Act
Answer Options :

(@ (b) (o (9

() @) Gv) @ @)
2) G@v) @) @ G
(3) @@ (@v) @) (i)
(4) (@) @ @G (@Gv)
95, T 3MUE. g9 gieAr Qe 1990 HEld Wufus Ui fawfaa &l
(1) TouE 3reggq goai= 9% (2) e FREH
(3) HURA &wa (4) eI

is developed for primary level in 1990 by Dr. R.H. Dave Committee.
(1) Charts of minimum level of learning (2) Quality program
(3) Achievement ability (4) Evaluation

oAl HHEIE SR/ SPACE FOR ROUGH WORK
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96. IS FHITTFETAN ezt M0 TN FIvRT HR0 FUEL AR 7

(a) TormHE s (b) e Steret T

(c) STRA FAAHHA () THE Ihe v

Qi S

(1) (@) () () (2 ®)(d) () G) (© @) (@ 4) (@) () () (@)

Which causes of wastage and stagnation are correct according to Kothari Commission ?

(a) Irregularity of attendance (b} Overcrowded classes

{c} Unsuitable curriculum (d) A wrong system of examination

Answer Options :

(1) (@) (b). (@) (2) () (d) () @) © @ @ @ (@ ®) () @
97. 3fead stz sifh HAwmie (IIM) S @kl faur faarma = snfn 9rg qata frae,

(a) TE.3TA.TH. Ve & Yo T Feurd o

(b) VERIEM 3M4.3TA.TH. Has A9 feog o,

(©) e 3-eegera T TFHash 2020 TR 3T, TH.TH. SRVEHIE O 990 TUITHT 3.

(d) 3T.3E.TH. TES <1 TG 1986 HEd T0am STIE S U, 3114, 3R T, 2020 =1 FHHARIT
A foen e IR,

T hIvwt fae e omea 2

(1) = fquE (o) 71 3R (2) e f99M (d) ¥ e

@) faum (a) sfor (b) T 3mRA (4) ud faum w1 aRa

Consider following statements about ‘Indian Institutes of Management’ and choose correct
alternative from below.

(@) IIM Rohatak is located in Punjab State.
(b} In Maharashtra IIM is located in Mumbai.

(c)  According to National Institutional Ranking Framework (NIRF) 2020 IIM Ahmadabad
is having First Rank.

(d) IIM Lucknow established in 1986 and having Third Rank in NIRF, 2020 ranking,
Which of the above statements are true ?

(1) Only statement (c) is true (2) Only statement (d} is true

(3) Statements (a) and (b) are true  (4) All statements are true

oAl HITAE AT/SPACE FOR ROUGH WORK
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98.

T Wisrd=m g= warm o giesm somr

T farfore S0 1986

il FEEHOTEST T &0 2001
e Hermier |t

FISH AT

(D
(2)
(3)
(4)

46

= dkmam

Mainstreaming a gender perspective in the development process is the objective of

(1) National Education Policy 1986
(2) National Policy for the empowerment of women 2001
(3) Parvatibai Malgonda committee
(4) Kothari Commission
99. g e e
e ‘A’ e ‘B’
( IRATHTS SfeTeRTETST T ) (=T 916 )
(a) TS A6 AT (i) Teoeht suftr s
(b) T ersel A (i) ehfemn
(c) et (iil) WA W_W
(d) THemd vt At (iv) I W_Y
Taidt e
@ ({ (9 @
M 6 G @) @
@ @) @ O @
@) G) @ @
@ ™ O @ @
Match the following pairs :
Column “A’ Column ‘B’
{Scheme for Girl child in India) (State Government)
(a) Ladli Laxmi Yojana (ij Delhi and Haryana
{p) Mukhyamantri Ladli Yojana (i) Odisha
(¢) Ladli (iif)y Madhya Pradesh
(d) Kishori Shakti Yojana (iv) Uttar Pradesh
Answer Options :
@ b © (@
O O 6@ @ )
@ @ v 6 @
G) @ @ 0
@ ) @ @ (i)
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100. difseh TAHAG TR0 HrEFATEE TEhrEe ok TaHER 17 Sfae). 2017 T e
LI i e
(a) NG M T e fawm Sede fGual weswEta Heee 916
(b) ST fahaa o
() U TFrEm fahfad wor
() TE Haed fawfaa

I I
(1) T (a) S (d) (2) T (b)
(3) W () (4) W (b) 3O (d)

Under technical Intern-Training program Memorandum of Co-operation (MoC) was signed
on 17 Oct. 2017 for

(a) Significantly expand the b11atera1 co-operation between India and Japan in the skill
development sector

(b) Developing entrepreneurship

(c) Developing national integration

(d) Human resource development

Answer Options :

(1) Only (a) and (d) (2) Only (b

(3) Only (o) (4)  Only (b} and (d)

101. A SETUAT 2011 TOR GTeid Teamwie T o S AN @

() Teumeet w (b) TSEIM

() faer @ fgo

(e) Tfr=m STA

it I :

(1) ©, ®), (&) (@) (@ 2 ®) © @) @ (e

(3)  ®) () (&) (a) (@) @) (©) () (a) (d) (e)

Arrange the sex ratio of following states in ascending order according to Census 2011 in
India.

(a) Himachal Pradesh (b) Rajasthan

(c) Bihar (d) Tripura

{e) West Bengal
Answer Options :
(1) (0 (), (e) (d), (a) (2)  ®) () (@) (@) ()
(3) () () (e) (a), ) 4) () (b), (a) (d), (e)
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102, wHivredr SfFrr=r Fagiagan ' =adia T SR = AReIaIs! U e ST ST
TS AAATETE vl Afer Afam 49 T’ ? 3/ Teed o I i,
(1) tfaefas aifysr fagia (2) HAfew sifver fagia
(3) Suftw sIfier fagi (4) ufiE wfier fagi
According to which theory of rights, all rights of man depend on the state for their existence.
There can be no right unless it is recognized by the state ?
(1) Historical Rights Theory (2) Moral Rights Theory
(3) Legal Rights Theory (4) Natural Rights Theory

103. YRAKIS AFETHHR F3aal=! qob Teraden! hlvicd] Seid 3Ted ?
(a) WRARIE STofame faidT el Jeas
(b) YRAT TegEde AT 11

(¢) =AEIYRTHR

(d) TR T e o0 SgUsg Sy T,

W['ﬂ"\‘ 3?!5\' :

(1) @ B @ 2 (@ b),@© 3) (), @) 4) (a) (b), (d)

Which of the following is/are roots of the Human Rights Movement in India ?
(a) Activities opposing national emergency.

(b)  Part Il of Indian Constitution.

(¢) State initiatives.

(d) Formations of non - government organisations and multi nationals.
Answer Options :

1) (@), b)), ©.(d) (2 (@) b)(© (3) (a), (b) 4) (@) (), (d)

104. Gieliede! VR fHUH/A StET T/ ?
‘IA-AEEIE+ [UN-REDD+] SEHAR drg =1 21for gurel sineasai et
YT FRIGH IF IR,

(a) 9 fafaud= gm
(b) O TS wafadl

(€) =MEw wH H

Qeitel JaraTge ara g e 3

(1) (a) ST (b) ® ) (©™x

(3)  (b) 3 (c) T @) (@), (b) S (c)

Which of the following statements is/are correct ?

Proper design and effective implementation of ‘UN-REDD+’ programme can significantly
contribute to .

(a) Protection of biodiversity

(b) Resilience of forest ecosystems

(c) Poverty reduction

Select the correct answer frorn options given below :

(1) (a) and (b) only 2)  (c) only

(3) (b) and (c) only (4) (@), (b) and ()

FoAT FHHS WM/ SPACE FOR ROUGH WORK
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105. S =T - (W - SAARC) ¢

(2)
(b)
(c)
(d)

A
(T &)

T FY FF
rh o1l HE

s Hipfas E

b ST e

It I :

(1)
(2)
(3)
(4)

(a)
(iv)
(iv)
(v)
(iv)

(b)
@

()
@)

v)

©
©
)

i)
i)

Maich the pairs - (SAARC) :

(2)
(b)
(©)
(d)

A
(Regional Centre)
SAARC Agriculture Centre
SAARC Energy Centre

SAARC Cultural Centre
SAARC Disaster Management Centre

Answer Options :

(1)
(2)
(3)
(4)

(@ () (9 (@

) @ () @)
(v) @) @ G
(v) (v) @) (i)
(iv) (v) (i) ()

K14

(¥ )

feeett, aRa
AR ISED)
BRI, FEel

B
(Place)
Kathmandu, Nepal
Delhi, India
Colombo, Srilanka
Dhaka, Bangladesh
Islamabad, Pakistan

HoAT HIAMEIS! AT/ SPACE FOR ROUGH WORK
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106. €9 T fom F/sA - UNDP =1 IVl Wiigd! d53mmer nuifia Sussars @il Saewiq
SOOI ARt oAl Y& HIETAErS! el el ?
(1) wwvad faE Aeafd Jum - SDNP
(2) iy wfest anfn g5 FEwHA
(3) MS-CIT 9 AvaE®H
(4) T SHUR CH
Which Information and Technology (IT) based initiative was designed by the UNDP, the

United Nations Development Programme to help bridge the information gap faced by
farmers ?

(1)  Sustainable Development Networking Programme - SDNP

(2) Krishi Information and Technology IT Programme
(3) MSLCIT Courses
(4) Free Trade Areas
107. TEIA S=AIHF SUFANH 9 e 1Y Ji= Sire & ¢
A B
(a) < TREE () FHS AT e qaies Seaud SR da
(b) TERY (i) T HTS TEACENA FRA TS A gAfI0l
(c) TaEm (iti) ST W
d) wfosy (iv) <Erfeerdt
et 39

(@ (b) () (d)
(1) (v) (i) (@) @)
@ @ @) @@ ()
(3) (v) (i) (@) (i)
@ (v @ () @

Match the following constitutional remedies with their meanings :

A B
(a) Habeas corpus (i) Prevent a subordinate court from exceeding its jurisdiction
(b) Mandamus (i) Transfer of a suit from a subordinate court to a superior court
(¢) Certiorari (i) We order

(d) Prohibition (tv) You may have the body
Answer Options :

@ (b @@ @
1) (v) @) @ @
2 @O @) @ @)
(3 (v) (W) @ (@
4 (v @ @@ @
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(a) FEmfaarE fregad Tersren frhe s gean aites Hd.

(b) wEETEE YEET HREHE 9TE a8 ST

() fora <t 2 W T iest werafea g,

() TeEmEd & Ay I TEaTe A FEEeR 3T,

Tt a6y .

(1) (@), (®) (© (2)  (®) () ) 3) (@) (o) @) (4) (a), (), ()

Select the correct statements related with Secretary General of United Nations.

(a) Secretary General is appointed by security council upon the recommendation of General
Assembly.

{(b) The term of Secretary General is of 5 years.

(c) Trygve lie was a first Secretary General of United Nations.

(d) Secretary General is responsible for submitting an annual report to General Assembly.

Answer Options :

1 @ ®)(© 2 )@@ G @ © @ @ (), () (d)

109.

Sires e - (W SR SER] ST s W)

A B

(Wt gEaRi qfaTt ) ( YT W)

(@) R g () FAOER TH

(b) AEfiE e (i) CAHTAHE T

(c) TTHN &FF (iil) wifaunfie TR
(d) wEfas-anfeiw eaw (iv) TERER TH

i 39T
@ & © @
® 6 @ G @)
(2 @) @) @ (@v)
(3) @) @v) @) @)
4) (v) @ (@) (i)
Match the pairs : (Categories of Rights and Type of State)

A B
(Category of Rights) (Type of State)
(a) Civil Rights (i) Welfare State
(b) Natural Rights (ii) Democratic State
(¢} Political Rights (iii)y Constitutional Governments

(d) Socio-economic Rights (iv) Night Watchman State
Answer Options :
(@ (b)) (9 (d)
M @® @ (v) ()
(2 @@ @ @ i)
(3) () (@v) (i) @@
(4) (v) () @) (i)
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110. 9% (OPEC) 9eld GIeiielishl SIv faum skrag i ?
(1) fomaefic erem ur= 1 Iees Sl SRR AY 1960 Wil Syl g Heft.

(2) O SURH <A 0 Feer e frvaEEt quHe Tgims YEiaan SRededt a9 8
T TEY 7 AvEY 3R R,

(3) oNiFHd Y& gfeett 9= 98 fRuAr 39 g T | 1965 7 Tutfeer 49 wafava o
(4) ot THE T

Which one of the following statements about OPEC is not correct ?
(1) OPEC was established by five oil producing developing countries in Baghdad in 1960.

(2) OPEC'sobjectiveis to co-ordinate and unify petroleum policies among member countries,
in order to secure fair and stable prices for petroleum producers.

(3) OPEC had its headquarters in Vienna during the first five years and then moved to
Geneva in 1965.

(4) None of the above

111. Tt ERAeE elerish! Sior/d fFuam/A stE o ?
(a) GgF UgHER 9 fedaR 1948 IS et g Sfaas faga snfor =ifta a1
(b) WETET UL HHE AfYHR AT 1995 Areft A .
(c) WRGT=N U AMEl STUFR SERTHE 1Ay it o qUias HeH S
(d) M= U Aat AR SR s1eas) € YRaT Sadie st e 7o =gl T8ed

aifest. (CIT)
it I :
1) @ 2)  (a) 30fT (b)
(3)  (®), (o) 3T (q) (4) o TEE TR

Which of the following statements is/are correct regarding Human Rights ?

(a) The United Nations adopted and proclaimed Universal Declaration of Human Rights.
on December 9, 1948.

(b) The National Human Rights Commission (NHRC}) of India came into existence in 1995.
(c) The NHRC of India consists of a chairperson and five full-time members.

(d) The chairperson of NHRC of India must be serving or retired Chief Justice of India.
Answer Options :

(1) Only (a) @) (a) and (b)

(3) (b), (c} and (d) (4) None of the above

oAl ShIATEES! JET/SPACE FOR ROUGH WORK
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112. S SAHEIRA S5 (WMO) Sed @refte e foemad =40
(a) ¥ T SFAAHH (intergovernmental) HEEAT ST | T Hee=t ot faerdterd sifast
e
(b) fa=n FrRigEmE TamA it Feea A FAE g
(c) YA § THHYIRA Yo Wed AR
FhETE! HIC faum/A e’ 3mR/d ?
1)  (a) 2 @ O @) (@) (4) o T
Consider the following statements regarding World Meteorological Organisation (WMO) :
(a) It is an intergovernmental organisation and a specialised agency of the UNO.
(b) Its area of operations includes weather and water resources.

(c) India is not a member of World Meteorological Organisation.
Which of the above statements is/are correct ?

(1) (a) only 2) (), (b) 3) (b), () (4) Al of the above

113. Sg%a UgHem=n Qien yieedeth qEia faumitest 9 faum s 3 |9im ?
(a) & STErE HEEART QR GRuSH STHEyTR quEvarHt Het fied.
(b) HTN qRueE EyTg o Afe-aren Tl Geerae) aged ST
(c) STT=A1 WRYITHR Gan Tiue=n et Tewi=d JFn areed ied, A i yiaren o=
AT 01T 37T 3R
(d) Ren IREeHYT SR oara U Seeeel T HaguE Teadl o,
it I

M @ ®) © @ 2 (@ ®).@© 3) () (o) (4) (b), (d)
Which of the following statement/s is/are correct about United Nations Security Council
(UNSC) ?

(a) Each non-permanent member gets the opportunity to work as UNSC president.
(b) The presidency of UNSC changes hand every month between its permanent members.

() The ten non-permanent seats are distributed among the regions of the world, five seats
are for African - Asian countries.

(d) A retiring member is eligible for immediate re-election of UNSC.

Answer Options :

1) @ ®) @ @ @ )@ 3 @ @) (b), (d)

HoHT HMETS ST/ SPACE FOR ROUGH WORK PT.O
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114, SRAT=A TG W] o SR TTTAT 12 SAfeerat 1993 Ustt qefl. HIE, 2020 9 @M (@&
FEETIHT IV T § TETHg HEE 3T

(a) ST FET (b) =N TH vl FHf
(c) ™8 TR 41 (d) varymf

LG i

(1) W (a), (b), (0) (2) w6 (b), (c), (d)

(3) ®H (a), (0), (d) (4) K (a), (b), (d)

The National Human Rights Commission of India was established on 12 October 1993. The
ex-officio memibers of commission in March, 2020 are :

(a) Jyotika Kalra (b) Dr. Ram Shankar Katheria
() Nand Kumar Sai (d) Rekha Sharma

Answer Options : |

(1) Only (a), (b), () (2)  Only (b), (c). (d)

(3)  Only (a), (c), (d) (4)  Only (a), (b), (d)

115. eI HUFITYA STEMT %A e :
(1) e SRET T 1961 HeA ST SeTIAE’ SueE! RAT9AT el
(2) ST TTiTFEre 1978 We Aiee Widdl JLEhRH Gd S0/ 311,
(3) STAR} Triee € yonefl anftr ey Fahiget SR F.
(4) SR IRT TSTEcrelt Fexi! HUET € IR Servra 2 9y fag oTR.
From the statements given below select the incorrect statement,
(1) Peter Benenson established the organization ‘Amnesty International’ in 1961.
(2) Amnesty International was awarded with Nobel Peace Prize in 1978,
(3) Amnesty International is working for the rights of refugees and prisoners.
(4)

4) Emblame of Amnesty International is a burming candle encircled in barbed wire.

oAl HUTHS AFT/SPACE FOR ROUGH WORK
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116. THIH (ASEAN) 915 Y8 fooien wuaiden! srama %o e,

(1) 8 3T, 1967 A ehTh, TS A FFAAH < T Hret.

() *sfeifEm Wiy wR wRrafae’ g STRam =t 2021 =t Yoy .

(3) 2019 3 fEAM A AR IHFAE FS .

(@) oTfEam ¥ g anfr stw & <o v omfeng srer Wi <0 STE.

Select the incorrect statement about ASEAN from the statements given below.

(1) ASEAN was established on 8 August 1967 in Bangkok, Thailand.

(2) “Advancing Partnership for Sustainability” is the theme of ASEAN for 2021.
3) Thailand was the chair of ASEAN for 2019.

(4) To promote South East Asian studies is the aim and purpose of ASEAN.

117. 9IRATET U AHa Boh TR Il YohieaT dehRie! GAavl sl -l ?

() oTeT o it et (b) eI

() HaEh Hefem st (d) FEIR EH

TaiHt I

(1) % (a) (2) ®H (b). (c) (3) T (a), () (4) R (), (d)

What kinds of complaints are not entertained by the National Human Right Commission of
India ?

(@) Vague or anonymous complaints (b) Child Labour
(c) Pertaining to service matters (d) Unlawful Detention

Answer Options :

(1)  Only (a) (2) Only(b), () (3 Onlyf@),( (4 Only() d)

FoAT HIHTETSE ST/ SPACE FOR ROUGH WORK PT.0
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Issues addressed in it
Women's issues
Human rights
Environment
Population questions

118. e oo

WY TEHATAT Uiy
(@) Tt R SmRRal (1992)
(b) T=TT (1993)
(©) U (1994)
(d) sifsT (1995)
g 36

@ (b)) (9 (@
() @) @ @) @
() (@) @) (@) (@
G) @) @ @ v
4y @ @) @ @)
Match the following :

UN Conference
(a) Rio de Janerio (1992) (i
(b) Vienna (1993) (ii)
(c) Cairo (1994) (iii}
(d) Beijing (1995) (iv)
Answer Options :

@ ® © (@
O @ @ @™ 0
@ @ @ @ 0
@) @) @ 0
4 @ @) @ @)

119.

(a)

(b)

"o T SR 3Nt faehr aRee’ (UNCTAD) ST @refter faem famma =
T TLHETAT AU 1964 TTell T SHetel 8 Tk T STal-WTeha HE STe,
o= e R, B 99 o,

(c) ¥ Wy WoHEEn G T W SR

TR HIR FRTA SRS ST ?

(1) = (a) 2 (b 3T (o) () (a) 3 (o) (4) =@ =

Consider the following statements about ‘United Nations Conference on Trade and

Development (UNCTADY :

(a) Itis a permanent inter governmental body established by the UN General Assembly in
1964.

(b) It's headquarter is located in Paris, France.

(c} Itis part of the UN Secretariat.

Which of the statements given above is/are correct ?

(1) (a) only (2) (b)and (c) (3} (a) and (c) All above

(4)

oAl AT S/ SPACE FOR ROUGH WORK
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120. THETHHNAE! SThHe FAE TR FUGRET [EIAuH! HIom goed et ?
(1) RIS ST Bl
) . Pt of —
(3) TR HIHTISTR HI.
(4) WA gEeh WaHl TR TUERTES M ARt SO,
Which of the following is not a pre-condition for creating an environment conducive for
human rights ?
(1) a constitutional guarantee of rights.
(2) an executive mechanism for implementing the assurances.
(3) social recognition of rights.
(4) giving free hand to police for investigating human rights crimes/violations.

121. foieron g stfafam 2009 wedl Hiea st wedr=n foeom=n srerri=n g (SE&T) FAfafam 2012
3T WEtedah! I q5A HLFA ST 3T ?
(a) A gEEiEN ‘wiawe e’ Ay kel sTessan q9eY 849 @ Gadr s
TE Aefauala el e

(b) o gEwiER Jgfay feeaiTar seeiedn sTerniates! w9l e Svaren gk Sudid T,

(c) IS el Hei= Aeia Medl SHTweTd- Qiqdl € e HeolNR Weur S/ i
et e A1 SAfufTae ERigR el .

(d) fouomen g sfufem @1 A wewe suft wexwi TEie an] olw o @1 arfufm
TERIIGR =Ya et e,

Tt I
1) (@, ®)(© 2 (), (©.(d) @) (@), (@), (d) (4) =@ wd

The Right of children to free and compulsory Education (Amendment) Act - 2012 made
which of the following changes in the RTE Act of 2009 ?

(@) The amendment expanded the definition of ‘child belonging to disadvantaged group
to include a child with disability’.

(b) The amendment provided that a child with ‘multiple disabilities’ may also have the
right to opt for home based education.

() Theamendment provided that the school management committees in respect of minority
educational institutions shall function only in an advisory capacity.

(d) The amendment declares that the provisions of RTE Act shall also be applied to vedic
path shalas and madrasas.

Answer Options :
1) (@) (®)(© @ () (©) @ 3 @) (o) @) (4) All above

ool SHTHTHIS ST/ SPACE FOR ROUGH WORK P.T.0



K14

58

122. WS AET (WS SRS SN SINOTSS) ¢ (3TSE S aegel)
sl

(@)
®)
©
(@

FHITEHR FHHAT

T wfasy

T AYDHR

Siferaran sy

oI I :

(1)
(2)
)
(4)

@
® @
(@) @)
™ @
@ @)

©
(i)
0
(i
0

[

™

(@
@

(i)
(i)
i)

0
)
()
)

WMTeh AUt AT
IR 15
3T 4
=T 3
A% 7

Match the pairs - (Universal Declaration of Human Rights) : (Articles and Provisions)

(a)
(b)
(©)
(d)

Provisions

Equality before Law

Prohibition of Slavery

Right to Nationality

Right to Life

Answer Options :

(1)
@)
3)
(4)

@@ (b)
(i ()
(i) (i)
(iv) (@

(iv) (d)

©
()
o
(@
0

(d)

0
@
(i)
)

Articles in Universal Declaration
Article 15

Article 4

Article 3

Article 7

HesAT THIATEIS AR/ SPACE FOR ROUGH WORK
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123. ST FRIEAEEG (IC]) 3ET FY/3 Sl :
(a) STTWEE AT T Fa el STeare] atas] Hger Terea Yian Wi e Fd.
(b) T AR AR T adier 1 e A guan quten 31 & wda=n

HEFHIEET Hadie Bl
(c) T@ER WEr ¥ 2012 TR SR AEear A SR
it 3
() ®F(@ = (2) BH(b) (o) (3) K (a), (o) (4) HF (a), (b)

Select the incorrect statement/s about International Court of Justice. (IC])

(a) Every year the IC] submits a report on its acfivities to the United Naftions Security
Council.

(b) The report of IC] covers the period from 1 August of one year to 31 July of the next
year.

(c) Dalveer Bhandari is the Judge of IC] since 2012.

Answer Options :

(1)  Only (a) (2) Only(®), () (3 Onlyf()() (4 Only) (b)
124. SIS o - (SO HEMR Fo92A1) ((LO)
A B

(a) ILO =t T=re @ 1969

(b) UNO 3 weu ferrsfigra sAfuaptor =i @ 1919

(c) A SFTIEHRTOTAE! | =arare Soonys (i) 1946

(d) T Wil TEHRH THH (iv) 2008
(v) 1998

gt I

(@ (b) (g (d)

1 G @ (v) (i)

@ @ ® 0

@) @ @ @) W)

4) @) i) @) @)

Match the pairs - (International Labour Organization) (ILO) :

A B

(a) Establishment of ILO (i) 1969

(b) Status of first specialized agency of UNO (i) 1919

(c) Declaration on Social Justice for fair globalization (i) 1946

(d) Honoured with Nobel Peace Prize (iv) 2008
(v) 1998

Answer Options :

@@ () () (d)

O @ 0 G @
@ ) & O ©
®) i) () @
@ G @ ™ 0

FoAT SIS AT/ SPACE FOR ROUGH WORK -
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125. HfTRAETE Sedciagaes Greieiish! Hve fFum steT A ?
(1) =ign Fftd wirE-afrmT ot (1955) aferaaast Jease Tl FTESIR SR
feam.
(2) M7= EfEr-gfior qife Heehrd EToH TATYAE! Hedl URd TR Hisa,
(3) sresiftan e afteg, 1973 9% 9 7 (NAM) Stecaeien Saifys Tu 3w 3.
(4) oS Yt dfged T (NAM) firer afteea (1961) fasamsier usgiet siforadras desdes
TTYAT FH{0A Hedt fEe
Which of the following statement is not correct about Non-Alignment Movement (NAM) ?
{1) The Asian - African Conference of Bandung (1955) provided legal ground for
establishment of Non-Aligned Movement. (NAM)
(2) Government of India proposed the idea of establishing the NAM - centre for South -
South Technical Co-operation.
(3) During 1973 Algeria Summit NAM put a ‘economy’ on high place in its priorities.
(4) During the first NAM Summit in Belgrad (1961) developing countries agreed to establish
the Non - aligned movement.
126. ‘' 39T GeAiEST U feor Qe o g% et .
(1) 1965 (2) 1975 (3) 1985 @) 1995
Scheme “Integrated Education for Handicapped Children” was launched in
(1) 1965 (2) 1975 (3 1985 4) 1995
127. *'TéT T WeR HiE-GeH fE ol o s sfahfam, fefafaerm ofs fdeede, sfa 2013

Tar frifea fawmoft femm _ gfay 3 9gEA STl

(1) 18 2y 22 (3) 24 4) 25

As per the “Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation
and Resettlement, Act 2013” planned settlement would have minimum facilities
and resources.

(1) 18 2y 22 (3) 24 4) 25

FoAT HUTEIS ST/ SPACE FOR ROUGH WORK
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128. G HI0a H TEHATTA HgA STIEd Sdio fawmammel #ed SEH W Hdr 2

(a) RS Yok §9 (b) i sfean for=m HiFTH
(c) W=y AT gfean dame (d) v feige oy o
qiEt 36T

O @ ® @ 2 @« 3) @ () @) 4 () (©

Which of the following Organisations have been receiving grant-in-aid from the Ministry of
Home Affairs for the development of the Scheduled Castes ?

(a) Harijan Sevak Sangh (b) All India Women’'s Conference
(c) Servants of India Society (d) Bharatiya Depressed Classes League

Answer Options :

M @ ® @ 2 @ @ B @ @ @ 4 ®) ()

129. WA TRISEAE IV FHer e Guron=ar fEH st Jae o[ A 91 ?
(1) e 46 (2) HEH 17 (3) FH 15(4) (4) e 335

Which Article under Indian Constitution is considered as a pioneering effort towards bringing
social reforms ?

(1)  Article 46 (2) Article 17 (3) Article 15(4)  (4) Article 335

130. 9% He WIHAH TGl hEEHd demiaid ARE! Giaun dn] e 9w gefdt
FETR, SR AT ST o1 oAl FHEAHIST FH hLard, Jol- e Tiiegor hemed womw.

(1) Ty 1976 ) W= 1977 () WH 1972 (4) T 1987
In the Central Government extended to Neo-Buddhists further facilities under
centrally Sponsored Schemes such as girls hostels, grant-in-aid to non-official organizations

engaged in their welfare, admission to pre-examination training centres.

(1) April 1976 (2) March 1977  (3) March 1972  (4) July 1987
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131.

62 A

T st fafy stdter stfueeor (@A o @ v &) = gl @it faumEn faun #a.

(a) WH AT e & 7 feciean sweenfaeg stdien=n gAaviEt s =t
3TE.

(b) TAH TA U R TTead 3T doheHt A i Ifean fooien semfaeg aﬂagﬂmﬁw
AT ARITERTO 3R,

(c) U H A € ¥ urdra Yl e (5 € o) ﬁﬁwaﬁwﬁ@aﬁwwﬂv@
syttt TRt ST,

Teoreht S faum/faum am s/ 9mea ?

1) (a) foum 9 o, 2) (a), (b) foum 9 amRa.

@) (), (o) faum 97 area. (4) Tads v faur 9 sra.

Consider the following statements with respect to National Company Law Appellate Tribunal

(NCLAT).

(a) NCLAT is the Appellate Tribunal for hearing appeals against the orders passed by
NCLT(s).

(b) NCLAT is the Appellate Tribunal for hearing appeals against the orders passed by
Insolvency and Bankruptcy Board of India.

(c) NCLAT is the Appellate Tribunal for hearing appeal against the orders passed by the
Competition Commission of India (CCI).

Which of the given Statement/s is/are correct ?

(1) (a) Statement is correct. (2) (a), (b) Statements are correct.
(3) (a), (c) Statements are correct. (4) All of the above Statements are correct.

132.

AT 2018 TGH YA T3t 97 &1 Aol (funsiEer) aute guronfasEt @rdia faum o,

(a) Taemm siaR grwe (37S) w3l 25,000 A ¥ 10,000 Yenia =Toam e,

(b) T ghawn At sErEiar 18-60 a6 95T 18-65 99 9 GUTia hioam e,

(C) 28 ST 2018 M WUASEIT™ WM ITStiedl ol T HIE HRHHIS STqem! famr weao
foemm 1 vra TUgiaE T4 2 A ST Sefavar .

it 3T
1) (a), (c) faum Img A, 2) (a), (b) faum g .
(3) (b), (c) oM A arRA. (4) wois ve fagm dra SRA.

Check the following statements about the modifications in Pradhan Mantri Jan Dhan Yojana

(PMJDY) since August 2018.

(a) Existing Over Draft (OD) limit of T 5,000 revised to ¥ 10,000.

(b) Age limit for availing OD facility revised from 18-60 years to 18-65 years.

(c} The accidental insurance cover for new RuPay card holders raised from existing
¥ One lakh to T Two Lakh to new PMJDY accounts opened after 28" August 2018.

Answer Options :

(1) (a), (c) Statements are correct. (2) (a), (b) Statements are correct.

(3) (b), (c) Statements are correct. (4) All of the above Statements are correct.
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133. TEN VEAM FTRTR Hear Haiud $1 HIFR Heda Heelhe HY Y8 Fdl ?
(1) @M 1953 (2) T 1953 (3) HAME 1954 (4) A 1954

When did Government of Maharashtra handover work related to Labour Welfare to the
Labour Welfare Board ?

(1)  August 1953  (2) July 1953 (3) August 1954 (4) July 1954

134. ‘' WY 99 HATH'' (TH TF UH) Gafia Geiiades! S fqum/faum dng o/ emea ?
(a) Y¥Ed o AR ¥ AieRuE, shfde snft urfee-witpiaw aiea ST vms

HIeT TEA T SR,

(b) TRATA TR Helbe (TH T W) & Tahea 1992 A= fiahi-fe-Safieh 39 sgun fmer
qRwea wom faswret e

(c) YvEd fawm g 15 T g1 Tk ANias [eRhR 3T Sare] Ie91 Wead o+ SqareTaarsal
HAATETIY VoA 201 3R,

Tt I

(1)  (b) faum arg TR, (2) (b), {c) faum arg o,

() (o) faur 9 o, | (4) wlerde gd fquR 9 e,

Which of the following statement/(s) regarding “Sustainable Forest Management” (SFM)
is/are correct ?

(a) Sustainable Forest Management (SFM) aims to keep the balance between Ecological,
Economic and Socio-cultural pillars,

(b) The concept of SFM was first adopted at the Earth Summit in Rio-de-Janerio in 1992.

{(c}  The Sustainable Development Goal 15 is also a global initiative aimed at promoting the
implementation of Sustainable Forest Management.

Answer Options :
(1) (b) statement is correct. (2} (b}, (c) statements are correct.

(3) (c) statement is correct. {(4) All the above statements are correct.
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135.

64 A
feemisTIET 2o (SR 0t gy ) etfufam gweer wieitel faum qom.
(a) FIEM fesAiTeEE AR 17 a6 22 wdd qefaet.

(b) A HEUN fSeiTeH= IEmHE di, @aﬁraﬁawﬁ?ﬁwm?ﬁqmﬁaﬁﬁw
HETEE AT AR,

it I

(1) (a) faum a7 oM.

2) (b) faum 4ra s

(3) =atsl I faum drg e,

(4) Slaisl IR o sEg e

Check the following statements about the Rights of Persons With Disabilities Act (RPWD).

(@) The act expanded the list of disabilities from 17 to 22.

(b) The act has added dwarfism, speech as well as language disability and three blood
disorders in the list of disabilities.

Answer Options :

(1) (a) statement is correct.

2

—

{(b) statement is correct.

—

)
)
3) Both of the above statements are correct.
) Both of the above statements are incorrect.

(4

136.

WA I SRS T A= HeduNEES! wE Fd e 7

(1) IASSW (STRUTETESY) (2) WHO (Ssuas)
(3) UNESCO (F7%h!) @) ILO (3uasi)

Which of the following International Organization does not work for the Welfare of Disabled
Persons ?

(1) IASSW (2) WHO
(3) UNESCO 4) ILO

THeeT HIHEIS JRT/SPACE FOR ROUGH WORK



A 65 K14

137, A AR foe FafEe TR (TR aeer e e faelt omia. e e
o,

(1) ek wavl AR T2 anfin Shaenfaa yeome TTETSTReAd Yohed e HAerH JH TUaTd ge
¥ TR,

(2) VUM RIS Il THed 13 TEhiARe YA Tl ot shEwfan yew fAfvea
FA T,

(3) STiY YW T U U= 4uiAed TR,
@) TSR STgUEE TeEE Y A

Following are the statements about National Cyclone Risk Mitigation Project (NCRMP). Find
out the incorrect statement.

(1) NCRMP has been launched by the Ministry of Home Affairs in two phases, in the
Cyclone Prone Coastal States and Union Territories.

(2) The project has identified 13 Cyclones Prone States and Union Territories (UTs) with
varying levels of vulnerability.

(3) Andhra Pradesh comes under the category of highly vulnerable states.

(4) Gujarat comes under the category of less vulnerable states.

138. mm,mmm%w.wmmmmmmww
T T o e o1

(1) =ies (2) wHETE (3) sifewm (4) TSEE

Sardar Sarovar Narmada Nigam Limited is a Joint Venture between Gujarat, Maharashtra
and Madhya Pradesh with State as beneficiary State.

(1) Karnataka (2) Chhattisgarh (3) Odisha (4) Rajasthan
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139. WL 2020 A1 IWHAWT SSHIq 40 HIl STESA FIHTRIAT AHISF GR& UL gt
e Freft "<t TiqE A ot 3T, A9 Wielierdsh! v faur,/ fam dve e/ o1 ?

(a) &1 VA=A AITARE geeda 9 farfiEt seets wfamn qoi seoaren e 1 geayet
T ITF 3R,

(b) WA WEUHR AEE TS HLOAR el ST,

(c) T Afafa Tew THEY SN A SR

(d) = AHaTa g&E el safamen wias T 600 i were foot S,
it 36T |

1) (a) foum 9ma oTR. 2) (b), (c) Taur 9ra A

(3) (a), (b), (c) faem 9 amea. (4) ot g9 faum 9 oA

In the meeting held in September 2020 in Rajya Sabha, provision for “Social Security Fund”
has been made to provide Social Security to 40 crore Unorganized Sector Workers. In this
regard which of the following statement/s is/are correct ?

(a) Through these efforts an important step has been taken towards fulfilling pledge of
Universal Social Security Coverage.

(b) Provision has been made in the “Indian Constitution” in this regard.

(c) Additional members have been included in the Commission.

(d) Each bereficiary will get financial assistance of ¥ 600 p.m. under the scheme.
Answer Options :

(1) (a) statement is correct. (2) (b), (c) statements are correct.

(3) (a), (b), (c) statements are correct. (4) All of the above statements are correct.

140. fe=aim = gaehERia HYa Tl FHOUal (F T € o 6t €1) 9rRam sheel A= foeft 2

(1) 2007 (2) 1999 (3) 2014 (4) 2001

When did India ratify the United Nations Convention on the Rights of Persons with Disability
(UNCRPD) ?

(1) 2007 2) 1999 (3) 2014 (4) 2001

141. YEiW 9fwd=n (TAHL) 9w fdt wfova arey dfaq &= onftn SRrsdiel geifdia e
fommamrdt sl et ?
(1) 30% (2) 19% 3y 27% (4) 47%
What percentage of allocation of schemes of North Eastern Council (NEC) is made for
development of deprived areas and neglected sections of society ?

1) 30% ) 19% @) 27% (4)  47%

FHoAT HIATES 9T/ SPACE FOR ROUGH WORK



A 67 K14

142. Hud Jdiw femandt oo Gt frevadret staces T Heen TS HaE e
frwion e, |
1) I feam (2) THEHST @ fem g (4) TAER

The National Society for equal opportunities for the Handicapped, Bombay, has also instituted
Memorial Award Fund.

(1) N.D. Dewan (2) Ramkrushna (3) D.N. Dube {4) Ramanand

143. @ ‘A’ fesain safsd=a soammi Hetva fafay sifufan <sifad @ w@w B = sfuf A
T4 giad w@[. drg st sefaumn g fae,

WA WY ‘B’
(a) Teaiem stfusmifian favm G 2016
(b) WRaE gFEr ufee sAfufe (i) 2014
(c) TRt Afuwr sAfufrm (iii) 2017
(d) AT w@ree Afutas (iv) 1992
it I

(@ (b) () (4
1) @ @ @ @)
(2) (@) (v) @ (i)
G) @ @ @ @)
(4) @) @ @) ()
Column ‘A’ indicates various acts related to the Welfare of disabled persons whereas
Column ‘B’ indicates year of their enactment. Select the option indicating the correct pairs.

Column ‘A’ Column ‘B’

(a) Department of Empowerment of Persons 1 2016
with Disability (Divyangjan)

(b) The Rehabilitation Council of India Act (i) 2014
{c) Rights of Persons with Disabilities Act (i) 2017
(d) Mental Health Care Act (iv) 1992
Answer Options :

@ ® © @
O @ @ O G
@ @ @ O )
G O G @ @)
@ @ @ @ 6
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144, " 9RAE O 9 JARME WAt IfHE A FH ARE veequ Jfawr seieaa’ ar fawdt
Weeyent H0M faum/fAum g g/ sma ?

(a) AT <A S AR YR S TR faaqq sHis Jrml.
(b) H&H WRA AR 411 w0 Faionfes smRa.
() e Sagien Yifaa evamE & R aeeynl .

Tt 3T :
(1)  (b), (o) Taum =g nga. (2) (a), (b) favm A smRa.
(3) oot ud faud g e (4) (a), (c) TaoM IrT 3TRa.

Which of the following statement/(s) about, “Indian Dams and Reservoirs play an important
role in the economic and agricultural growth of India”, is/are correct ?

(@) In this regard India ranks third globally after China and the United States of America.
(b) About 411 dams are under construction in India at present.

(c) These dams are vital for ensuring the water security of the Country.

Answer Options :

(1) (b), (c) stalements are correct. (2) (a), (b) statements are correct.

(3) All of the above statements are correct. (4) (a), (c) statements are correct.

145, @refeidst S faum/faus a9g )/ eRa ?
(a) TI9 U FW A[ME (TIHTe) T 24 Fedar 1966 UsH e
(b) AT YL, THETEH ¥ WAH TEA 99 ST 2T BN
(c) TOU T g0 AERT (THTA) 15 TR 1999 TS TG FHI0AT ST,
(d) Teig =@l @ g6l U F9 &0 3TeF8 Biel.

qaiEt I
(1) (), (c) faum =g smRa. 2) (a), (b) faum Fma A
3) (b), (c) faum 4rg aTRa. (4) =t we fayum Arg sea.

Which of the following statement/s is/are correct ?

(a) The First National Commission on Labour (NCL) was set-up on 24" December 1966.

(b) TJustice P.B. Gajendragadkar was the Chairman of the First National Commission on
Labour.

(c) The Second National Commission on Labour (NCL) was set-up on 15% October 1999.

(d) Ravindra Varma was the Chairman of the Second National Commission on Labour.

Answer Options : _

(1) (a), (c) statements are correct. (2) (a), (b) statements are correct.

(3) (b), (c) statements are correct. (4) All of the above statements are correct.
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146. Geilel faumAMT Sy T9m.

TTeek T Stfuf@m 2019 FaAd 51(5) TH0 TF TR ThHawh! o faeg weie e
I F U Tehl.

(1) W

(2) oA

(3) hTEl THIUE §H

(4) e TRFeRITER STy
Examine the validity of the statement.

As per Consumer Protection Act - 2019 an appeal may lie to the Supreme Court under Sec.
51(5) of the Act from an order passed ‘exparte” by the State Commission.

(1) True
(2) False
3)
4)

Partially True

Depending on circumstances of the cases

147, TTEF HIEIV Al 2019 aTd ‘S’ A GaEe =G AHEY TAL.
(a) Aevihd THeE wH/ TS
(b) feg srfasmiia pd

(c) FEwt Hen

(d) Eeen AU stfafTam 1860 siavia 7 Fifauarm ST =i HoeT
vaiEt 36T

(1) e (a) 3O (d) (2) W (b) I ()

(3) T (a), (b) W () 4) wd (a), (b), (o) A (d)

As per Consumer Protection Act 2019 ‘Person’ includes :

(a) Unregistered Firm

(b) Hindu Undivided Family

(c) A Co-operative Society

(d) Association of Persons not registered under Societies Registration Act 1860
Answer Options :

(1) Only (a) and (d) (2) Only (b) and (¢)

(3) Only (a), (b) and () (4) All(a), (b), (c) and (d)
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148. UEe wamW Afufram, 2019 T Uit Tadi<l FeHdt ya Hrel.
(1) 10 3T= 2019 (2) 9 HAME 2019
(3) 12 e 2019 (4) 8 HE 2019

The Consumer Protection Act, 2019 received the assent of the President on
(1) 10t August 2019 (2) 9t August 2019

(3) 12th August 2019 (4) 8t August 2019

149. mmmwm,mmmﬁawawﬁaﬁﬂﬁmwﬁwwm?
(1) o oIl I=3 I I ST,
(2) < N 38 FEEEEl Ay e ST,
(3) et (1) fEa (2)
(4) =R THE TR

What qualification a person should possess for being appointed as the President of State
Commission under Consumer Protection Act ?

(1) He must be a Judge of a High Court
(2) He must have been a Judge of a High Court
(3) Either (1) or (2)

{4) None of the above
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150. @i faym fa=mG =0 .

framr  : TTew S fuftad 2019 TER ST MR gedifats TR R Heara
fieR THifa 1.
framm ;. TTEF TERE UIEE IRkl STTHER THITE 3R,

) faum 1 st ae, faum 11 5.
(2) TaEer 11 SR o1, faum 1 5.
(@) 3= faumy SUe o7

4) I faum 9% omed.

Consider the following statements :

Statement I : Under Consumer Protection Act 2019 Consumer rights includes the right
to seek redressal against unfair trade practice.

Statement II :  Consumer rights includes the right to consumer awareness.
(1) Statement I is correct, II is incorrect.

(2) Statement II is correct, I is incorrect.

(3) Both Statements are correct.

(4) Both Statements are incorrect.

-00o0-
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Al — (U= 1 5% 94.... )

(8) TEgfened fafeq e fafire S +4 &M (TF 3%) 4. TYfahAaie Sauhal a1 TR
FAEER F=7 FH Hedd d A FOAM WM FO 3R, 30 TF0 TEG § AHUR A e
IR} heean ¢ wieiAed Brorr TR wfaey weaeee sfufem-82 " A RETER SR A
Iw 9 SNl A HHIG TH T BREEET A0/ & w98 uh TR a o= g 1 ERe

(9) WS YTIUFIHHIS AN fafed Fod I AUTAHT SHEAIH & WITYNh! Td:Sat FUEThHEEet 33
O T SR, W TAGTeh AT SUTgE SHEAN HIUeET IHUehar WiT-1 THagsTss T
foran v ot savawE o

T T
¥. . 201. HdTE 967 T8 HOAMEET v Heid: T hed ?
(1) e Tame qead (2) TR faumEr
(3) TS (HEEA W (4)  TTTeEES e

W IR A SR (3) T qEEET W oW R, W W we e IO (3)) B dred
TATTIN T F. 201 Tile IR-F4a (3" € ade TN SR wET @l Seva®
e,

1%20.. D @O @ @
I YA Wd WA Yedeh e el SUGHTIF 31 TR S Jiaeed Sutnaie
M FARAEEAR et 9o Uit STEifhd e GEaEl.  Eekiier Wad Hiodl WER
I aE, UfES O TEE O O 4.
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